

In this issue	Page
Legislative Branch Legislative Administrative Services	
Interim Committee Schedule for September 2 – September 20, 2024	1305
Rates	
Pooled Money Investment Board  Notice of Investment Rates Effective September 2 – September 8, 2024	1205
Kansas Secretary of State	1303
Notice of Code Mortgage Rate for September 2024	1305
Notices	
Wichita State University	
Notice of Intent to Lease Real Property	
Notice of Intent to Lease Real Property	1306
Notice of Meeting	1306
Kansas Department of Health and Environment	
Notice of Proposed Phase II Acid Rain Permit for Evergy, Inc. –	400
Lawrence Energy Center  Notice of Proposed Amendment to Kansas Air Quality Construction	1307
Permit for Panasonic Energy Corporation of North America	1308
Notice of Proposed Amendment to Kansas Air Quality Construction	
Permit and Class II Operating Permit Modification for QLX, LLC Notice of Proposed Kansas/Federal Water Pollution Control Permits	1308
and Applications	1309
Kansas Department of Administration - Office of Procurement and Contracts	
Notice to Bidders for State Purchase	1311
Kansas Department of Transportation  Notice to Bidders for School and Activity Buses	1312
The Scoular Company	1012
Notice to Bidders for Rail Yard Maintenance Project in Goodland, Kansas	1312
Fort Scott-Bourbon County Riverfront Authority	1010
Notice to Bidders for Riverfront Trail Phase 1 Project  Port Authority of Stafford County	1313
Request for Bids for Intermodal Terminal Construction	1313
Kansas Public Employees Retirement System	
Request for Proposals for International Equity Portfolio Management Services	
Request for Proposals for Compensation Consulting Firm	1313
Opinions	
Kansas Governmental Ethics Commission Opinion No. 2024-02	1314
Bonds	1011
Kansas Development Finance Authority	
Notice of Hearing on Proposed Revenue Bonds	1315
City of Oakley, Kansas	
Notice of Intent to Seek Private Placement General Obligation Bonds	1315
Sedgwick County, Kansas Summary Notice of Bond Sale	1316
Regulations	
Kansas Corporation Commission	
Notice to Hearing on Proposed Administrative Regulations	1317
Kansas Lottery	
Temporary Administrative Regulations	
Index to administrative regulations	1344
Cover Artwork: Wheat Ready to Harvest	

The Kansas Register is an official publication of the state of Kansas, published by authority of K.S.A. 75-430. The Kansas Register is published weekly and a cumulative index is published annually by the Kansas Secretary of State.

© Kansas Secretary of State 2024. Reproduction of the publication in its entirety or for commercial purposes is prohibited without prior permission. Official enactments of the Kansas Legislature and proposed and adopted administrative regulations of state agencies may be reproduced in any form without permission.

Current and back issues of the Kansas Register (HTML and PDF Format) can be found at https://www.sos.ks.gov/publications/kansas-register.html.

Register Office: 1st Floor, Memorial Hall 785-368-8095 kansasregister@ks.gov



### Published by Scott Schwab Secretary of State 1st Floor, Memorial Hall 120 SW 10th Ave. Topeka, KS 66612-1594 785-296-4564 https://www.sos.ks.gov

Photo by Todd Caywood

#### State of Kansas

# Legislative Administrative Services

#### **Interim Committee Schedule**

The Legislative Research Department gives notice that the following legislative committees plan to meet on the dates listed below based on current information and subject to change. Requests for accommodation to participate in committee meetings should be made at least two working days in advance of the meeting by contacting Legislative Administrative Services at 785-296-2391 or TTY 711, or email legserv@las.ks.gov.

#### September 2 through September 20, 2024

Date	Room	Time	Committee	Agenda
Sept. 4	Virtual	2:00 p.m.	Unemployment Compensation Modernization and Improvements Council	No Agenda Available
Sept. 9	548-S	10:00 a.m.	Legislative Coordinating Council	No Agenda Available
Sept. 9	548-S	1:30 p.m.	Senate Committee on Confirmation Oversight	No Agenda Available
Sept. 10	546-S	1:00 p.m.	Legislative Post Audit Committee	No Agenda Available
Sept. 11	152-S	9:00 a.m.	Joint Committee on State-Tribal Relations	No Agenda Available
Sept. 11	582-N	10:00 a.m.	Joint Committee on Child Welfare System Oversight	No Agenda Available
Sept. 12	582-N	9:00 a.m.	Joint Committee on Child Welfare System Oversight	No Agenda Available
Sept. 13	152-S	9:00 a.m.	Kansas Fight Addiction Grant Review Board	No Agenda Available
Sept. 18	548-S	1:00 p.m.	Building Kansas Advisory Committee	No Agenda Available

Tom Day Director Legislative Administrative Services

Doc. No. 052457

#### State of Kansas

# **Pooled Money Investment Board**

#### **Notice of Investment Rates**

The following rates are published in accordance with K.S.A. 75-4210. These rates and their uses are defined in K.S.A. 12-1675(b)(c)(d) and K.S.A. 12-1675a(g).

### **Effective 9-2-24 through 9-8-24**

Effective 9-2-24 tillough 9-6-24		
Term	Rate	
1-89 days	5.33%	
3 montȟs	4.94%	
6 months	4.68%	
12 months	4.31%	
18 months	4.04%	
2 vears	3.87%	

Joel Oliver Executive Director Chief Investment Officer Pooled Money Investment Board

#### State of Kansas

### Secretary of State

#### Notice of Code Mortgage Rate for September 2024

Pursuant to the provisions of K.S.A. 16a-1-301, Section 11, the code mortgage rate during the period of September 1-30, 2024, is 12 percent. The reference rate referred to in the definition of "code mortgage rate" set forth in K.S.A. 16a-1-301(11)(b)(i) is discontinued, has become impractical to use, and/or is otherwise not readily ascertainable from the Federal Home Loan Mortgage Corporation.

Scott Schwab Secretary of State

Doc. No. 052444

Doc. No. 052443

#### **State of Kansas**

# Wichita State University

### Notice of Intent to Lease Real Property

Public notice is hereby given that Wichita State University (WSU), directly or through its affiliate corporation Wichita State Innovation Alliance, Inc., intends to lease, subject to all required state approvals, up to 1.22 acres of real property located on the northwest corner of the intersection of Fountain Avenue and 21st Street North, directly adjacent to the Wichita State University campus. This location would be designated for private development committed to supporting broadband infrastructure and Internet exchanges. The university is interested in leasing such ground to any individual, organization, or entity whose presence would advance WSU's vision or its mission as an educational, cultural, and economic driver for Kansas and the greater public good. WSU intends to lease such space for a mutually agreeable period of time, but extended terms and renewal options would be considered. Interested tenants must be willing to be a good fit with WSU's educational mission and identify anticipated benefits to the university, its students, and the surrounding community (i.e. applied learning, joint research, faculty start-up, WSU curriculum or program support, community benefit commitments, etc.), and must agree to the essential ground lease terms and restrictive covenants. Interested tenants will be evaluated on: proposal terms, demonstrated benefit to WSU and the surrounding community, design concepts, financial stability, and proposed use. Interested tenants will be responsible for all costs associated with the development and ongoing maintenance costs of any improvements. Rental rate shall be based on fair market value and negotiable based on term of lease, purpose/use of the improvement, and benefit to WSU. WSU will consider serious offers and inquiries from any financially qualified individual, group, organization. If interested, please contact Property Manager Crystal Stegeman at crystal.stegeman@wichita.edu. This publication is being published pursuant to K.S.A. 75-430a(d), to the extent applicable.

> Crystal Stegeman University Property Manager Office of the Vice President for Administration and Finance Wichita State University

Doc. No. 052352

#### State of Kansas

# Wichita State University

## Notice of Intent to Lease Real Property

Public notice is hereby given that Wichita State University (WSU), directly or through its affiliate corporation Wichita State Innovation Alliance, Inc., intends to lease, subject to all required state approvals, up to four acres of real property located on the Wichita State University's campus designated as the "Innovation Campus," for the private development and operation of a partnership building or buildings. The university is interested

in leasing such ground to any individual, organization, or entity whose presence on campus would advance the university's applied learning vision or its mission as an educational, cultural, and economic driver for Kansas and the greater public good. The university intends to lease such space for a mutually agreeable period of time up to sixty years, but extended terms and renewal options would be considered. Interested tenants must be willing to be a good fit with the university's educational mission and identify anticipated benefits to the university, its students, and the WSU community (i.e. applied learning, joint research, faculty start-up, WSU curriculum or program support, etc.), and must agree to the essential ground lease terms and restrictive covenants. Interested tenants will be evaluated on: proposal terms, demonstrated benefit to WSU, design concepts, financial stability, and proposed use. Interested tenants will be required to construct adjacent and adequate surface parking that will not be included in the leased ground. Rental rate shall be based on fair market value and negotiable based on term of lease, purpose/use of building improvement, and benefit to the university. The university will consider serious offers and inquiries with detailed proposal terms from any financially qualified individual, group, organization. If interested, please contact Senior Vice President for Industry and Defense Programs, Dr. John Tomblin at john.tomblin@wichita.edu or Property Manager Crystal Stegeman at crystal.stegeman@ wichita.edu. This publication is being published pursuant to K.S.A. 75-430a(d), to the extent applicable.

> Crystal Stegeman University Property Manager Office of the Vice President for Administration and Finance Wichita State University

Doc. No. 052353

#### State of Kansas

# Kansas Historic Sites Board of Review

#### **Notice of Meeting**

The Kansas Historic Sites Board of Review will meet at 11:30 a.m. Saturday, October 5, 2024. We invite you to attend the meeting virtually, by phone, or in person. The physical location will be the Siedhoff Salon, Drury Plaza Hotel Broadview, 400 W. Douglas Ave., Wichita, KS 67202. The Zoom meeting link will be posted on our website 14 days before the meeting and can be found at https://www.kshs.org/14633.

The Board will consider the following items:

- Approval of Minutes from June 1, 2024 meeting.
- Consideration of State Historic Sites:
  - Fort Dodge, Junior Officer's Quarters Fort Dodge, Ford County
- Consideration of Nominations for both the National & State Registers of Historic Places: (\* denotes properties within a Certified Local Government boundary)
  - James C Malin House Lawrence, Douglas County\*
  - Friends' Place Lawrence, Douglas County\*

- Sears Roebuck Building Garden City, Finney County\*
- West Elementary Osawatomie, Miami County
- Mac Wesley Chapel Coffeyville, Montgomery County
- Bernard's Restaurant & Catering Hutchinson, Reno County\*
- Dawson Farmstead Valley Center, Sedgwick County
- African American Resources of Topeka MPDF Topeka, Shawnee County\*
- Second Missionary Baptist Church Topeka, Shawnee County\*
- Mount Auburn Cemetery Topeka, Shawnee County\*
- First AME Church Kansas City, Wyandotte County\*
- Consideration of Nominations to the National Register of Historic Places (only):
  - Madam Walker School Merriam, Johnson County
  - Felcman Homestead Sylvan Grove, Lincoln County
- Consideration of Nominations for the Register of Historic Kansas Places (only):
  - Edwards Building Larned, Pawnee County
- Removal/Delisting from both the National and State Registers of Historic Places:
  - First National Bank Building Highland, Doniphan County\*
  - Earl H. Ellis VFW Post No. 1362 Pratt, Pratt County
  - Neodesha City Hall Neodesha, Wilson County

The Kansas State Historical Society welcomes individuals with disabilities to participate in its activities. If you have a visual, aural, or other impairment and wish to participate in this meeting, please contact the Cultural Resources Division of the Kansas State Historical Society, 6425 SW 6th Ave., Topeka, KS 66615-1099 or by telephone at 785-272-8681 ext., 240, at least two weeks prior to the meeting to discuss how we can ensure your participation.

Patrick Zollner Executive Director Kansas Historical Society

Doc. No. 052445

#### State of Kansas

# Department of Health and Environment

#### Notice of Proposed Phase II Acid Rain Permit

Notice is hereby given that the Kansas Department of Health and Environment (KDHE) is proposing to issue a five-year permit to the Evergy, Inc. – Lawrence Energy Center, PO Box 889, Topeka, KS 66601 pursuant to Title IV (Acid Deposition Control) of the Federal Clean Air Act and implementing regulations found at 40 CFR Parts 72 through 78. The effective date of the permit is from January 1, 2025 through December 31, 2029.

Two (2) utility boiler(s) affected by this permit action, identified as Unit Nos. 4 and 5 in the 40 CFR Part 73 Table 2 are located at 1250 N. 1800 Rd., Lawrence, Doug-

las County, KS 66049, operated by Evergy, Inc., PO Box 889, Topeka, KS 66601, would receive Sulfur Dioxide (SO<sub>2</sub>) allowances 948 and 3752 (respectively,) for each year from 2025 through 2029. Each allowance authorizes the utility boiler to emit up to one ton of sulfur dioxide during or after each of the years specified above. Evergy, Inc. – Lawrence Energy Center proposes to comply with the Acid Rain Program emission requirements by holding enough allowances to cover all sulfur dioxide emissions. Issuance of this permit would not affect the responsibility of Evergy, Inc. – Lawrence Energy Center to meet all other existing local, state, and federal sulfur dioxide emission requirements.

Acid Rain Program Nitrogen Oxides (NO<sub>x</sub>) emission requirement language: Lawrence Energy Center's Unit Nos. 4 and 5 are Phase II tangentially fired boilers and will comply with the standard British thermal unit (Btu)-weighted annual average emission rate of 0.40 lb NO<sub>x</sub>/MMBtu heat input.

The designated representative for Evergy, Inc. – Lawrence Energy Center is Gerald Cox.

A copy of the proposed permit, permit application, all supporting documentation, and all information relied upon during the permit application review process are available for public review during normal business hours of 8:00 a.m. to 5:00 p.m. at the KDHE, Bureau of Air (BOA), 1000 SW Jackson, Suite 310, Topeka, KS 66612-1366 and at the Northeast District Office, 800 W. 24<sup>th</sup> St., Lawrence, KS 66046. To obtain or review the proposed permit and supporting documentation, contact Florinda Yasmin at the central office of KDHE at 785-296-5231, or Wendi Kessler at the Northeast District Office at 785-882-4600. The standard departmental cost will be assessed for any copies requested. The proposed permit, accompanied with supporting information, is available, free of charge, at the KDHE BOA Public Notice website at https://www.kdhe.ks.gov/413/Public-Notices.

Please direct written comments or questions regarding the proposed permit to Florinda Yasmin, KDHE, BOA, 1000 SW Jackson, Suite 310, Topeka, KS 66612-1366. In order to be considered in formulating a final permit decision, written comments must be received no later than 12:00 p.m. Monday, October 7, 2024.

A person may request a public hearing be held on the proposed permit. The request for a public hearing shall be in writing and set forth the basis for the request. The written request must be submitted to Florinda Yasmin, KDHE BOA, 1000 SW Jackson, Suite 310, Topeka, KS 66612-1366, no later than 12:00 p.m. Monday, October 7, 2024, in order for the Secretary of Health and Environment to consider the request.

The preceding notice refers to the air permit for Evergy Inc. – Lawrence Energy Center located at 1250 N. 1800 Rd., Lawrence, Douglas County, KS 66049. If you want more information or you have other questions, please contact the KDHE Non-Discrimination coordinator and call 785-296-5156 or send an email to KDHE. NonDiscrimination@ks.gov. [El aviso anterior se refiere al permiso de aire para Evergy Inc. – Lawrence Energy Center ubicado en 1250 N. 1800 Rd., Lawrence, Douglas County, KS 66049. Si desea obtener más información en

español o tiene otras preguntas, por favor, comuníquese con el Coordinador de No Discriminación de KDHE y llame al 785-296-5156 o envíe un correo electrónico a KDHE.NonDiscrimination@ks.gov.]

Janet Stanek Secretary

Department of Health and Environment

Doc. No. 052454

#### State of Kansas

# Department of Health and Environment

#### Notice of Proposed Amendment to Kansas Air Quality Construction Permit

Notice is hereby given that the Kansas Department of Health and Environment (KDHE) is soliciting comments regarding the amendment of a previously issued air quality construction permit. Panasonic Energy Corporation of North America, 10900 S. Clay Blair Blvd., Olathe, KS 66061, owns and operates the stationary source located at 10701 Astra Pkwy., DeSoto, Johnson County, KS 66018. Certain requirements were found to no longer be appropriate in the construction permit dated March 12, 2023. These requirements are being modified. Emissions of volatile organic compounds (VOC), particulate matter (PM), carbon monoxide (CO), oxides of nitrogen (NO<sub>X</sub>), oxides of sulfur (SO<sub>X</sub>), and hazardous air pollutants (HAPs) were evaluated during the permit review process.

A copy of the modification is available for public inspection, from the date of publication, during normal business hours, at the KDHE, Bureau of Air (BOA), 1000 SW Jackson, Suite 310, Topeka, KS 66612-1366, and at the Johnson County Department of Health and Environment, 11811 S. Sunset, Suite 2700, Olathe, KS 66061. To obtain or review the modification, contact Angela Bryson at the central office of KDHE at 785-296-3589, and to review the proposed permit only, contact Rollin Sachs at the Johnson County Department of Health and Environment at 913-715-6939. The standard departmental cost will be assessed for any copies requested. The proposed permit, accompanied with supporting information, is available, free of charge, at the KDHE BOA Public Notice website at https://www.kdhe.ks.gov/413/Public-Notices.

Please direct written comments or questions regarding the proposed modification to Angela Bryson, KDHE, BOA, 1000 SW Jackson, Suite 310, Topeka, KS 66612-1366. In order to be considered in formulating a final permit decision, written comments must be received no later than the 12:00 p.m. Monday, October 7, 2024.

A person may request a public hearing be held on the proposed modification. The request for a public hearing shall be in writing and set forth the basis for the request. The written request must be submitted to Angela Bryson, KDHE, BOA, 1000 SW Jackson, Suite 310, Topeka, KS 66612-1366, no later than 12:00 p.m. Monday, October 7, 2024, in order for the Secretary of Health and Environment to consider the request.

The preceding notice refers to the air permit for Panasonic Energy Corporation of North America located at 10701 Astra Pkwy., DeSoto, Johnson County, KS 66018. If you want more information or you have other questions,

please contact the KDHE Non-Discrimination coordinator and call 785-296-5156 or send an email to KDHE. NonDiscrimination@ks.gov. [El aviso anterior se refiere al permiso de aire para Panasonic Energy Corporation of North America ubicado en 10701 Astra Pkwy., DeSoto, Johnson County, KS 66018. Si desea obtener más información en español o tiene otras preguntas, por favor, comuníquese con el Coordinador de No Discriminación de KDHE y llame al 785-296-5156 o envíe un correo electrónico a KDHE.NonDiscrimination@ks.gov.]

Janet Stanek Secretary Department of Health and Environment

Doc. No. 052452

#### State of Kansas

### Department of Health and Environment

### Notice of Proposed Amendment to Kansas Air Quality Construction Permit and Class II Operating Permit Modification

Notice is hereby given that the Kansas Department of Health and Environment (KDHE) is soliciting comments regarding the amendment of a previously issued air quality construction permit and a Class II Operating Permit Modification. QLX, LLC, PO Box 6, Bazine KS 67516, owns and operates the stationary source located at RR #1, Box 92, Bazine, Ness County, KS 67516. Certain requirements were found to no longer be appropriate in the construction permit dated August 10, 1999. These requirements are being modified. QLX, LLC has applied for a permit modification of the facility's Class II operating permit in accordance with the provisions of K.A.R. 28-19-544. Emissions of volatile organic compounds (VOC), particulate matter (PM), particulate matter with less than or equal to 10 microns in aerodynamic diameter (PM<sub>10</sub>), particulate matter with less than or equal to 2.5 microns in aerodynamic diameter ( $PM_{2.5}$ ), carbon monoxide (CO), oxides of nitrogen ( $NO_X$ ), oxides of sulfur ( $SO_X$ ), and hazardous air pollutants (HAPs) were evaluated during the permit review process. The purpose of a Class II permit is to limit the potential-to-emit for these pollutants to below major source thresholds.

A copy of the construction permit modification and the Class II Operating Permit modification is available for public inspection, from the date of publication, during normal business hours, at the KDHE, Bureau of Air (BOA), 1000 SW Jackson, Suite 310, Topeka, KS 66612-1366, and at the Northwest District Office, 2301 E. 13th St., Hays, KS 67601. To obtain or review the modification, contact Parker Robb at the central office of KDHE at 785-296-1947, and to review the proposed permit only, contact Cole Denny at the Northwest District Office at 785-261-6117. The standard departmental cost will be assessed for any copies requested. The proposed permit, accompanied with supporting information, is available, free of charge, at the KDHE BOA Public Notice website at https://www.kdhe.ks.gov/413/Public-Notices.

Please direct written comments or questions regarding the proposed modification to Parker Robb, KDHE, BOA, 1000 SW Jackson, Suite 310, Topeka, KS 66612-1366. In order to be considered in formulating a final permit decision, written comments must be received no later than 12:00 p.m. Monday, October 7, 2024.

A person may request a public hearing be held on the proposed modification. The request for a public hearing shall be in writing and set forth the basis for the request. The written request must be submitted to Parker Robb, KDHE, BOA, 1000 SW Jackson, Suite 310, Topeka, KS 66612-1366, no later than 12:00 p.m. Monday, October 7, 2024, in order for the Secretary of Health and Environment to consider the request.

The preceding notice refers to the air permit for QLX, LLC located at RR #1, Box 92, Bazine, Ness County, KS 67516. If you want more information or you have other questions, please contact the KDHE Non-Discrimination coordinator and call 785-296-5156 or send an email to KDHE.NonDiscrimination@ks.gov. [El aviso anterior se refiere al permiso de aire para QLX, LLC ubicado en RR #1, Box 92, Bazine, Ness County, KS 67516. Si desea obtener más información en español o tiene otras preguntas, por favor, comuníquese con el Coordinador de No Discriminación de KDHE y llame al 785-296-5156 o envíe un correo electrónico a KDHE.NonDiscrimination@ks.gov.]

Janet Stanek Secretary

Department of Health and Environment

Doc. No. 052453

#### State of Kansas

# Department of Health and Environment

# Notice of Proposed Kansas/Federal Water Pollution Control Permits and Applications

In accordance with Kansas Administrative Regulations 28-16-57a through 63, 28-18-1 through 17, 28-18a-1 through 31 and 33, 28-16-150 through 154, 28-46-7, and the authority vested with the state by the administrator of the U.S. Environmental Protection Agency, various draft water pollution control documents (permits, notices to revoke and reissue, notices to terminate) have been prepared and/or permit applications have been received for discharges to waters of the United States and the state of Kansas for the class of discharges described below.

The proposed actions concerning the draft documents are based on staff review, applying the appropriate standards, regulations, and effluent limitations of the state of Kansas and the Environmental Protection Agency. The final action will result in a Federal National Pollutant Discharge Elimination System Authorization and/or a Kansas Water Pollution Control permit being issued, subject to certain conditions, revocation, and reissuance of the designated permit or termination of the designated permit.

Las acciones propuestas con respecto a los documentos preliminares se basan en la revisión del personal, aplicando los estándares, regulaciones y limitaciones de efluentes apropiados del estado de Kansas y de la Agencia de Protección Ambiental de Estados Unidos. La acción final resultará en la emisión de una Autorización Federal del Sistema Nacional de Eliminación de Descargas de Contaminantes y un permiso de Control de Contaminación del Agua de Kansas, sujeto a ciertas condiciones,

revocación y reemisión del permiso designado o terminación del permiso designado. Si desea obtener más información en español o tiene otras preguntas, por favor, comuníquese con el Coordinador de No Discriminación al 785-296-5156 o en KDHE.NonDiscrimination@ks.gov.

#### Public Notice No. KS-AG-24-268/281

#### **Pending Permits for Confined Feeding Facilities**

Name and Address of Applicant	Legal Description	Receiving Water
Prairie Sun Holsteins Douglas Unruh	NE/4 of Section 23 T22S, R01E	Little Arkansas River Basin
6917 N. Oliver Rd.	Harvey County	
Walton, KS 67151		

Kansas Permit No. A-LAHV-B012

The proposed action is to modify and reissue an existing state permit for a facility for 120 head (168 animal units) of mature dairy cattle. This permit is being modified to remove the mature dairy cattle to operate only as a beef feedlot with a maximum capacity of 60 head (60 animal units) of cattle weighing more than 700 pounds, and 120 head (60 animal units) of cattle weighing less than 700 pounds; for a facility total of 120 animal units. No other modifications are proposed, and this represents a decrease in animal units from the previous permit. This facility has an approved Waste Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
High C Farms Chris Pinkston 1213 NW 80th Ave. St. John, KS 67576	SW/4 of Section 17 T22S, R14W Stafford County	Upper Arkansas River Basin

Kansas Permit No. A-UASF-B001

The proposed action is to reissue an existing state permit for an existing facility for 2,400 head (960 animal units) of swine more than 55 pounds. There will be no change in the operation or permitted number of animal units from the previous permit. This facility has an approved Waste Management Plan on file with KDHE.

# Name and Address of Applicant Rolling Hills Pork, LLC SW/4 of Section 25 Brad Jones T015, R03E 2530 Quivira Rd. Washington, KS 66968 Receiving Water Big Blue River Basin Big Blue River Basin County

Kansas Permit No. A-BBWS-H008 Federal Permit No. KS0096784

Kansas Permit No. A-URNT-B014

The proposed action is to reissue an existing NPDES permit for an existing facility for 3,580 head (1,432 animal units) of swine weighing more than 55 pounds and 5,360 head (536 animal units) of swine weighing 55 pounds or less for a total of 1,968 animal units of swine. There will be no change in the operation or permitted number of animal units from the previous permit. This facility has an approved Nutrient Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
Sumner Farms, Inc. Todd Sumner 2143 Road W14 Norcatur, KS 67653	E/2 of NW/4 of Section 16 T01S, R25W Norton County	Upper Republican River Basin

The proposed action is to reissue an existing state permit for an existing facility for 350 head (350 animal units) of cattle weighing more than 700 pounds and 350 head (175 animal units) of cattle weighing 700 pounds or less, for a total of 525 animal units. There will be no change in the operation or permitted number of animal units from the previous permit. This facility has an approved Waste Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
Kirchhoff Cattle Raegan and Todd Kirchhoff 7092 K-9 Hwy. Cedar, KS 67628	SW/4 of Section 31 T04S, R14W Smith County	Solomon River Basin

Kansas Permit No. A-SOSM-B004

The proposed action is to reissue an existing state permit for an existing facility for 950 head (950 animal units) of cattle weighing 700 pounds or more. There will be no change in the operation or permitted number of animal units from the previous permit. This facility has an approved Waste Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
W&S Ranch, Inc. 17052 R Rd.	NW/4 of Section 25 T03S, R13W	Solomon River Basin
Smith Center, KS 66967	Smith County	

Kansas Permit No. A-SOSM-B012

The proposed action is to reissue an existing state permit for an existing facility for 700 head (700 animal units) of cattle weighing more than 700 pounds. There will be no change in the operation or permitted number of animal units from the previous permit. This facility has an approved Waste Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
Janzen Family Farms - Hog Floor 15076 NW 180th St. Newton, KS 67114	SE/4 of Section 32 T22S, R03E Marion County	Walnut River Basin

Kansas Permit No. A-WAMN-S003

The proposed action is to reissue an existing state permit for an existing facility for 1,000 head (400 animal units) of swine weighing more than 55 pounds. There will be no change in the operation or permitted number of animal units from the previous permit. This facility has an approved Waste Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
Yost Nursery Brentan Yost	NE/4 of Section 09 T21S, R01E	Little Arkansas River Basin
1153 Chisholm Trail	Marion County	Kivei basiii
Newton, KS 67114	-	

Kansas Permit No. A-LAMN-S001

The proposed action is to reissue an existing state permit for an existing facility for 3,000 head (300 animal units) of swine weighing 55 pounds or less. There will be no change in the operation or permitted number of animal units from the previous permit. This facility has an approved Waste Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
Brian Zimmerman 10395 E. Road 22 Ulysses, KS 67880	NW/4 of Section 22 T30S, R35W Grant County	Cimarron River Basin

Kansas Permit No. A-CIGT-B004

The proposed action is to reissue an existing state permit for an existing facility for 999 head (499.5 animal units) of cattle weighing less than 700 pounds. There will be no change in the operation or permitted number of animal units from the previous permit. This facility has an approved Waste Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
Paula Meyer 1580 4th Rd. Marysville, KS 66508	SW/4 of Section 15 T03S, R06E Marshall County	Big Blue River Basin

Kansas Permit No. A-BBMS-S006

The proposed action is to reissue an existing state permit for an existing facility for 975 head (390 animal units) of swine weighing more than 55 pounds and 250 head (125 animal units) of cattle weighing 700 pounds or less, for a total of 515 animal units There will be no change in the operation or permitted number of animal units from the previous permit. This facility has an approved Waste Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
Darrel Stoller 2109 192nd Rd. Sabetha, KS 66534	SW/4 of Section 33 T01S, R14E Nemaha County	Missouri River Basin

Kansas Permit No. A-MONM-S040

The proposed action is to reissue an existing state permit for an existing facility for 920 head (368 animal units) of swine weighing greater than 55 pounds and 600 head (60 animal units) of swine weighing 55 pounds or less, for a total of 428 animal units. There will be no change in the operation or permitted number of animal units from the previous permit. This facility has an approved Waste Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
Wayne Hermesch 1529 112th Rd Seneca, KS 66538	SW/4 of Section 21 & NW/4 of Section 28 T03S, R13E Nemaha County	Missouri River Basin

Kanas Permit No. A-MONM-M028

The proposed action is to reissue an existing state permit for an existing facility for 120 head (168 animal units) of mature dairy cows and 20 head (10 animal units) of cattle weighing 700 pounds or less (dairy calves), for a total of 178 animal units There will be no change in the operation or permitted number of animal units from the previous permit. This facility has an approved Waste Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
Greg Allen 1168 I Rd. Centralia, KS 66415	NW/4 of Section 09 T04S, R12E Nemaha County	Missouri River Basin

Kansas Permit No. A-MONM-S034

The proposed action is to reissue an existing state permit for an existing facility for 150 head (60 animal units) of swine weighing greater than 55 pounds, and 30 head of dogs in kennels (0.6 animal units), for a total of 60.6 animal units. There will be no change in the operation or permitted number of animal units from the previous permit. This facility has an approved Waste Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
Watowa Farms Owen Watowa 12124 Neosho Rd. Atchison, KS 66002	NW/4 of Section 05 T05S, R20E Atchison County	Missouri River Basin

Kansas Permit No. A-MOAT-S004

The proposed action is to reissue an existing state permit for an existing facility for 1,022 head (408.8 animal units) of swine weighing more than 55 pounds and 420 head (42 animal units) of swine weighing 55 pounds or less, for a total of 450.8 animal units. There will be no change in the operation or permitted number of animal units from the previous permit. This facility has an approved Waste Management Plan on file with KDHE.

#### Public Notice No. KS-Q-24-180/181

The requirements of the draft permit public noticed below are pursuant to the Kansas Surface Water Quality Standards, K.A.R. 28-16-28(b-g), and Federal Surface Water Criteria.

# Name and Address Receiving Stream Type of Discharge of Applicant

Cornejo & Sons, LLC PO Box 412 Pittsburg, KS 66762 Neosho River via Lightning Creek via Unnamed Tributary Process Wastewater

Permit No. I-NE48-PO02 Federal Permit No. KS0096211

Legal Description: SE¼, NW¼; S½, NE¼; NE¼, SW¼; and N½, NE¼, SE¼ of Section 25, Township 31S, Range 21E, Cherokee County

Location: 37.31946, -95.05630

The proposed action consists of reissuing the above referenced NPDES permit. The facility has relocated the one outfall and added 5 outfalls. This is a limestone quarrying and crushing operation, with no washing. Outfalls 001-004 consist of stormwater runoff. Outfalls 005 and 006 consists of mine pit dewatering and stormwater runoff, that is pumped to a pond for treatment, before being discharged. There is no asphalt plant operating at this location. This permit contains generic language to protect water quality.

Name and Address of Applicant	Receiving Stream	Type of Discharge
GP Industrial Plasters, LLC	Big Blue River via Unnamed	Process Wastewater
2127 US-77 Hwy. Blue Rapids, KS 66411	Tributary	

Permit No. I-BB04-PO01 Federal Permit No. KS0002135

Legal Description: NW1/4, Section 16, Township 4S, Range 7E, Marshall County

Location: 39.71003, -96.65190

This action consists of reissuance of an existing NPDES/Kansas water pollution control permit for an existing facility. This facility presently manufactures flooring products and mines and processes gypsum to produce bagged and bulk gypsum products. This permit contains limits for BOD5, TSS, pH, and WET Chronic. The permit contains monitoring for Flow, Sulfate, and Total Phosphorus.

Persons wishing to comment on or object to the draft documents and/or permit applications must submit their comments in writing to the Kansas Department of Health and Environment (KDHE) if they wish to have the comments or objections considered in the decision-making process. All written comments regarding the draft documents, application or registration notices received on or before October 5, 2024, will be considered in the formulation of the final determination regarding this public notice. Please refer to the appropriate Kansas document number (KS-AG-24-268/281, KS-Q-24-180/181) and name of the applicant/permittee when preparing comments.

All comments received will be responded to at the time the Secretary of Health and Environment issues a determination regarding final agency action on each draft document/application. If response to any draft document/application indicates significant public interest, a public hearing may be held in conformance with K.A.R. 28-16-61 (28-46-21 for UIC). A request for public hearing must be submitted in writing and shall state the nature of the issues proposed to be raised during the hearing.

Comments or objections for agricultural related draft documents, permit applications, registrations or actions should be submitted to the attention of Casey Guccione, Livestock Waste Management Section at the KDHE, Bureau of Environmental Field Services (BEFS), 1000 SW Jackson, Suite 430, Topeka, KS 66612. Comments or objections for all other proposed permits or actions should be sent to Andrew Bowman at the KDHE, Bureau of Water, 1000 SW Jackson St., Suite 420, Topeka, KS 66612.

All draft documents/applications and the supporting information including any comments received are on file and may be inspected at the offices of the KDHE. For agricultural related draft documents or applications an appointment can be scheduled, or copies requested by contacting Jada Martin at 1000 SW Jackson St., Suite 430, Topeka, KS 66612, telephone 785-296-0076 or email at kdhe.feedlots@ks.gov. Las preguntas o comentarios por escrito deben dirigirse a Erich Glave, Director, Bureau of Environmental Field Services en KDHE: 1000 SW Jackson St., Suite 430, Topeka, KS 66612-1367; por correo electrónico: kdhe.feedlots@ks.gov; por teléfono: 785-296-6432. For all other proposed permits or actions an appointment can be scheduled, or copies requested by contacting Jamie Packard, Bureau of Water, 1000 SW Jackson St., Suite 420, Topeka, KS 66612, telephone 785-296-4148 or email at Jamie.Packard@ks.gov. These documents are available upon request at the copying cost assessed by KDHE. Application information and components of plans and specifications for all new and expanding swine facilities are available at http://www.kdhe.ks.gov/livestock. Division of Environment offices are open from 8:00 a.m. to 5:00 p.m., Monday through Friday, excluding holidays.

> Janet Stanek Secretary

Department of Health and Environment

Doc. No. 052455

### State of Kansas

# Department of Administration Office of Procurement and Contracts

#### **Notice to Bidders**

Sealed bids for items listed will be received by the Office of Procurement and Contracts until 2:00 p.m. on the date indicated. For more information, call 785-296-2376.

All bids are to be submitted via email only to procurement@ks.gov. For more information, please visit https://supplier.sok.ks.gov/psc/sokfsprdsup/SUPPLIER/ERP/c/SCP\_PUBLIC\_MENU\_FL.SCP\_PUB\_BID\_CMP\_FL.GBL.

09/30/2024	EVT0009851	Lockets and Miscellaneous
		Hardware – KDOA
09/30/2024	EVT0009866	Actuarial Services – Board of
		Governors
09/30/2024	EVT0009872	Flight Suits – KHP
10/01/2024	EVT0009871	TEFAP Food Commodities – DCF
10/03/2024	EVT0009781	Mineral Well Reclamation – KDHE
10/03/2024	EVT0009873	Aircraft Parts, Maintenance, and
		Service – KHP
10/03/2024	EVT0009882	Leased Tracked Skid Steer - KDWP
10/03/2024	EVT0009884	KARB Audit Services – KDA
10/03/2024	EVT0009886	Aging and Disability Resource
		Center – KDADS
10/07/2024	EVT0009878	Batteries – Statewide Use – KDOA
10/08/2024	EVT0009863	Janitorial Services; Hiawatha DCF
		Office – DCF

The above referenced bid documents can be downloaded at the following website:

https://supplier.sok.ks.gov/psc/sokfsprdsup/SUPPLIER/ERP/c/SCP\_PUBLIC\_MENU\_FL.SCP\_PUB\_BID\_CMP\_FL.GBL

Additional files may be located at the following website (please monitor this website on a regular basis for any changes/addenda):

# https://admin.ks.gov/offices/procurement-contracts/bidding--contracts/additional-bid-opportunities

09/20/2024	A-015029	Roof Repair; Great Bend Readines Center – Adjutant General's
		Department
09/23/2024	A-015030	Roof Repair; Army Aviation
		Support Facility #2 – Adjutant
		General's Department
09/24/2024	A-015144	Roof Replacement; Salina West
		Readiness Center – Adjutant
		General's Department

Information regarding prequalification, projects, and bid documents can be obtained at 785-296-8899 or http://admin.ks.gov/offices/ofpm/dcc.

Todd Herman Director

Office of Procurement and Contracts
Department of Administration

Doc. No. 052461

#### State of Kansas

# **Department of Transportation**

#### **Notice to Bidders**

Sealed bids for school and activity buses will be accepted by the Kansas Department of Transportation on behalf of Kansas Unified School Districts and Interlocal Cooperative Agreements, until 2:00 p.m. October 8, 2024. The Invitation for Bid document can be downloaded at <a href="http://www.ksdot.org/burFiscal/rfq/rfq.asp">http://www.ksdot.org/burFiscal/rfq/rfq.asp</a>.

All bids shall be submitted electronically via email to KDOT#Procurement@ks.gov clearly marked as Bid Event CB0014.

Calvin Reed Secretary Department of Transportation

Doc. No. 052451

(Published in the Kansas Register September 5, 2024.)

# The Scoular Company

#### **Notice to Bidders**

The Scoular Company is seeking bidders for a rail yard maintenance project at their facility near Goodland, Kansas (Goodland Crush Facility)(Project No. RA-8893-01). Interested bidders should contact Brad Perry at bperry@scoular.com to request bid package. The bid package will include site layout and maintenance scope of work.

# Scope of Work

The work consists of performing track maintenance including tie replacement, replacement of rail with defects, switch maintenance, and regulating track. Contractor supplies all track materials, but not limited to, new ties, new bolts, new prime spikes, and ballast. This project is the recipient of a KDOT State Rail Service Improvement Fund program grant and the contract for work will be directly with Scoular, which reserves the right to reject any or all bids. Questions regarding the project should be directed to Brad Perry.

#### Work Windows

Impact to current railroad operations must be kept to a minimum. When work must take place that causes an active track to be taken out of service for the purposes of performing work that pertains to the project, the contractor must pre-arrange a defined work window with The Scoular Company. Contractor can anticipate a minimum work window of eight hours.

#### Standards

All standards referenced by the project plans and specifications, as well as all applicable AREMA standards, must be upheld during all phases of the project work, unless certain standards are excluded from the project with written approval.

### Submittals

The following documents shall be submitted by the contractor as part of the project, at the times listed:

- 1. Schedule of Work Submitted with proposal.
- 2. Certificate of Insurance Submitted prior to construction.
- 3. Safety Plan Submitted prior to construction.
- 4. Proof of Roadway Worker Training Submitted prior to construction.

#### Other Responsibilities

- 1. Permits Contractor is responsible for all federal, state, and local permits required for the work.
- 2. Utilities Contractor is responsible to locate and protect site utilities.
- 3. Site Clean-up Contractor is responsible for proper site restoration and proper disposal of materials removed in accordance with all local, state and federal laws.

#### Insurance

Contractor shall purchase required coverage and submit for verification a Certificate of Insurance.

#### Materials

All materials shall meet the requirements found in the project plans and/or specifications as well as applicable AREMA requirements. Material storage is granted on railroad right of way to the contractor. However, no materials shall be stored closer than 15 feet from the centerline of any active track at any time. Material and equipment laydown areas and reclaimed materials stockpiling locations shall be discussed and further clarified at the pre-proposal meeting.

#### **Project Completion**

All work pertaining to this project shall be completed by November 15, 2024.

#### Submission of a Proposal

All proposals must be submitted no later than September 13, 2024. All submitted proposals shall be reviewed

by The Scoular Company. Please ensure your proposal includes all required information. All incomplete proposals shall be rejected. The structure of your proposal must be able to be clearly understood, all proposals shall provide the following line items and provide costs as required below:

- 1. Provide a total sum of all line items on the proposal.
- 2. Mobilization and demobilization lump sum.
- 3. Material (supply), labor (install), and equipment for each line item.
- 4. Tamp and regulate lump sum.
- Performance bond (sum not less than amount of the contract as awarded) – lump sum.
- 6. Clean up work site to completion lump sum.

#### **Work Reporting**

Daily work reports must be filled out and submitted to the designated Scoular representative. Weekly reports should include updates to project schedules, any delays, or any change in the scope of work. A detailed summary report must be submitted at the completion of the project.

> Brad Perry Facility Engineering Manager The Scoular Company

Doc. No. 052426

(Published in the Kansas Register September 5, 2024.)

# Fort Scott-Bourbon County Riverfront Authority

#### **Notice to Bidders**

Separate sealed bids for the Riverfront Trail Phase 1 will be received at the office of the Fort Scott-Bourbon County Riverfront Authority, 9 N. Main St., Fort Scott, KS 66701, until 10:00 a.m. September 23, 2024, and then publicly opened and read aloud at the Greyhound Legacy Center, 11 N. Main St., Fort Scott, KS 66701.

Parties interested in bidding must contact Agricultural Engineering Associates for bidder prequalification prior to obtaining contract documents and/or bidding. The contract documents may be examined at Agricultural Engineering Associates, 1000 Promontory Dr., Uniontown, KS 66779.

Paper copies of the contract documents may be obtained at the office of Agricultural Engineering Associates, 1000 Promontory Dr., PO Box 4, Uniontown, KS 66779 upon payment of \$25 per set, nonrefundable. The phone number for the office is 620-756-1000. Electronic copies of the contract documents can be obtained thru email at no charge from the same office upon completion of contractor's prequalification application.

A pre-bid conference will be held at 10:00 a.m. September 16, 2024, to review any questions on the anticipated construction. Interested contractors are invited to meet at the Trail Site, east of National Avenue and just south of the Marmaton River bridge, on Maple Ridge Park Street, Fort Scott, Kansas. Attendance is not mandatory for bidding.

L. Frank Young, P.E. Senior Engineer Agricultural Engineering Associates, Inc. (Published in the Kansas Register September 5, 2024.)

# Port Authority of Stafford County

#### **Request for Bids**

The Port Authority of Stafford County is soliciting bids for the construction of approximately 16,000 track-feet of rail, switches, and access roads for their proposed intermodal terminal near St. John, Kansas. All material used for construction shall adhere to the requirements and stipulations set forth in the Buy American Act of 1978. Please contact Jake Ferrell with ASM Engineering Consultants at jferrell@asm4.com for bidding documents.

Electronic bids are due to Carolyn Dunn at staffordportauthority@gmail.com and Jake Ferrell at jferrell@asm4.com by 3:00 p.m. (Central Time) Friday, September 27, 2024.

Carolyn Dunn President Port Authority of Stafford County

Doc. No. 052460

#### State of Kansas

# Kansas Public Employees Retirement System

# **Request for Proposals**

The Kansas Public Employees Retirement System (KPERS) seeks competitive proposals from qualified firms with an interest in managing an international equity (global ex. US) portfolio for the Retirement System. The Request for Proposals provides information on KPERS' investment division and the services it seeks and establishes the specifications and requirements for submitting proposals.

Details are available in the Request for Proposal documents on KPERS' website at <a href="http://www.kpers.org">http://www.kpers.org</a>. Proposals must be sent electronically to Michael Cumming at <a href="mailto:mcumming@kpers.org">mcumming@kpers.org</a> with a copy to <a href="mailto:rfp\_international\_equity@kpers.org">rfp\_international\_equity@kpers.org</a> and must be received by 3:00 p.m. (Central Time) October 4, 2024. Please email Mr. Cumming directly for more information.

Alan D. Conroy Executive Director Kansas Public Employees Retirement System

Doc. No. 052449

#### **State of Kansas**

# Kansas Public Employees Retirement System

#### **Request for Proposals**

The Kansas Public Employees Retirement System (KPERS) is soliciting competitive fee proposals from qualifying firms to provide compensation consulting services for KPERS.

Candidates should respond to this Request For Proposals for the purpose of providing such compensation consulting services for the Retirement System in compliance with KPERS' legal, management, and reporting requirements.

Details are available in the Request for Proposals document at KPERS' website at http://www.kpers.org. Proposals must be received in the KPERS office by 3:00 p.m. (Central Time) October 4, 2024. All related questions should be in writing and directed to Julie Baker, Human Resources Director at jbaker@kpers.org.

Alan D. Conroy Executive Director

Kansas Public Employees Retirement System

Doc. No. 052450

#### State of Kansas

# **Governmental Ethics Commission**

#### **Opinion No. 2024-02**

Written August 28, 2024 to John Cozine, Esq., State and Federal Communications, Inc., 222 S. Main St., Suite 300, Akron, OH 44308.

Synopsis: A person must register as a lobbyist in Kansas if they expend more than \$1,000.00 for lobbying on behalf of a client, regardless of whether the legislature is in session. The process for a nonprofit organization to register a lobbyist is no different than the process for any other person under K.S.A. 46-265. EdChoice does not fall within the narrow K.S.A. 46-237(h) exception for entities established to serve, inform, educate, and strengthen legislatures in all states.

Cited herein: K.S.A. 46-222, K.S.A. 46-223, K.S.A. 46-225, K.S.A. 46-228, K.S.A. 46-237, K.S.A. 46-265.

Dear Mr. Cozine,

In response to your May 7, 2024, email request, this opinion is provided by the Kansas Governmental Ethics Commission ("Commission"), concerning application of the state governmental ethics law, K.S.A. 46-214a *et seq*. The Commission's jurisdiction is limited to applicability of this law. This opinion, provided pursuant to K.S.A. 46-254, does not address whether some other statutory system, common law theory, agency rule, or regulation applies to your inquiry.

#### **Factual Statement**

EdChoice is a 501(c)(3) nonprofit organization that promotes state programs to expand school choice policies. EdChoice offers an "annual educational program" to which all Kansas legislators may be invited to. Legislators may participate in the program by offering their opinions on educational choice policies and how such policies have impacted Kansas. EdChoice would like to pay for the invited Kansas legislators to attend its annual program. This would include covering travel, lodging, food, and beverage for the legislators.

#### Questions

- 1. If EdChoice exceeds the \$1,000.00 registration threshold within K.S.A. 46-222(a)(3), is EdChoice required to register a lobbyist even if the legislature is no longer in session when the expenditures are made?
- 2. If EdChoice is required to register a lobbyist, do any additional steps need to be taken to register a nonprofit organization as opposed to registering any other person?

3. Would EdChoice be permitted to pay for Kansas legislators' travel, lodging, food, and beverage under the K.S.A. 46-237(h) exception?

#### Analysis and Opinion

1. If EdChoice exceeds the \$1,000.00 registration threshold within K.S.A. 46-222(a)(3), is EdChoice required to register a lobbyist even if the legislature is no longer in session when the expenditures are made?

K.S.A. 46-222(a) lists four actions that could render a person a "lobbyist" under Kansas law. Relevant here, K.S.A. 46-222(a)(3) states that a lobbyist includes "any person who makes expenditures in an aggregate amount of \$1,000 or more, exclusive of personal travel and subsistence expenses, in any calendar year for lobbying[.]" K.S.A. 46-223 defines "person" to mean "an individual, proprietorship, partnership, limited partnership, association, trust, estate, business trust, group, or corporation, whether or not operated for profit, or a governmental agency unit, or subdivision." Finally, K.S.A. 46-265 requires every lobbyist in Kansas to register with the Secretary of State.

EdChoice, as a nonprofit organization, is a "person" under K.S.A. 46-223. The first question posed is whether EdChoice expending over \$1,000.00 on lobbying outside of the duration of the regular session changes whether it must register a lobbyist.

The test of K.S.A. 46-222(a)(3) is indifferent to whether the Legislature is in session or not. The only deciding factor is whether the \$1,000.00 expense threshold for lobbying is exceeded. The question, as posed, indicates that \$1,000.00 would be expended for lobbying. Consequently, if EdChoice exceeds the \$1,000.00 registration threshold within K.S.A. 46-222(a)(3), then it must register as a lobbyist with the Kansas Secretary of State.

2. If EdChoice is required to register a lobbyist, do any additional steps need to be taken to register a non-profit organization as opposed to registering any other person?

Additionally, a nonprofit organization does not register any differently than any other person under Kansas law. EdChoice must select an individual representative to register as a lobbyist in Kansas and that representative would list EdChoice as the "person compensating the lobbyist for lobbying" pursuant to K.S.A. 46-265(a).

3. Would EdChoice be permitted to pay for Kansas legislators' travel, lodging, food, and beverage under the K.S.A. 46-237(h) exception?

Based on the additional information submitted by Ed-Choice, it does not appear that EdChoice was established to serve, inform, educate, and strengthen legislatures in all states. Instead, EdChoice was established to advocate for certain education policies. "Serving, informing, educating and strengthening" is specific and narrow language and a national, nonprofit, nonpartisan organization seeking the K.S.A. 46-237(h) exception must have been established for all four reasons.

For the foregoing reasons, the Commission finds that EdChoice does not meet the K.S.A. 46-237(h) exception.

So, Kansas legislators may not be offered, nor may they accept the payment of their travel and lodging to the Ed-Choice annual program.

Sincerely,

Nick Hale, Chairman By Direction of the Commission

Doc. No. 052458

#### State of Kansas

# **Kansas Development Finance Authority**

#### **Notice of Hearing**

Notice is hereby given that a public hearing will be held by the Kansas Development Finance Authority (the "Authority") at 9:00 a.m. September 19, 2024, in the conference room in the offices of the Authority, 534 S. Kansas Ave., Suite 800, Topeka, Kansas, concerning a plan of finance involving the issuance by the City of Wichita, Kansas (the "City") of one or more series of qualified 501(c)(3) revenue bonds in a maximum stated principal amount of \$90,000,000 (the "Bonds") for the purpose of making the proceeds of the Bonds available to Presbyterian Manors, Inc., a Kansas not for profit corporation (the "Corporation"), to finance, refinance, and reimburse costs of senior living and health care facilities, furnishings, and equipment for the Corporation and its affiliates, as further described in this notice. The Bonds are proposed to be issued by the City pursuant to the provisions and under the authority of K.S.A. 121740 et seq., as amended, and K.S.A. 10-116a (collectively, the "Act").

The Corporation expects to use a portion of the proceeds of the Bonds in the approximate amount of \$80,000,000 to refinance all, a portion, or none of the following outstanding series of bonds previously issued by the City: (1) Health Care Facilities Revenue Bonds (Presbyterian Manors, Inc.), Series IV-A, 2013 (the "Series IV-A, 2013 Bonds") and (2) Health Care Facilities Revenue Bonds (Presbyterian Manors, Inc.), Series IV-A, 2014 (the "Series IV-A, 2014 Bonds").

The proceeds of the Series IV-A, 2013 Bonds and Series IV-A, 2014 Bonds were used to acquire, construct, improve, renovate, repair, furnish, equip, reimburse, or refinance the costs of the Corporation's senior living and health care facilities located at the following addresses in the State of Kansas: (1) 4700 W. 13th St., Wichita, KS 67212 (the "Wichita Facility"); (2) 1171 N. Fourth, Arkansas City, KS 67005 (the "Arkansas City Facility"); (3) 924 Eighth St., Clay Center, KS 67432 (the "Clay Center Facility"); (4) 200 Campus Dr., Dodge City, KS 67801 (the "Dodge City Facility"); (5) 2300 Industrial Rd., Emporia, KS 66801 (the "Emporia Facility"); (6) 2401 S. Horton, Fort Scott, KS 66701 (the "Fort Scott Facility"); (7) 1429 Kasold Dr., Lawrence, KS 66049 (the "Lawrence Facility"); (8) 1200 E. Seventh, Newton, KS 67114 (the "Newton Facility"); (9) 17500 W. 199th St., Olathe, KS 66061 (the "Olathe Facility"); (10) 3501 Dirr Ave., Parsons, KS 67357 (the "Parsons Facility"); (11) 2601 E. Crawford St., Salina, KS 67401 (the "Salina Facility"); and (12) 4712 SW Sixth, Topeka, KS 66606 (the "Topeka Facility").

In addition, the Corporation expects to use a portion of the net proceeds of the Bonds in an approximate amount of \$10,000,000 to acquire, construct, improve, renovate, repair, equip, furnish, reimburse, or refinance the costs of the Corporation's senior living and health care facilities in the following estimated amounts at the following addresses: (1) \$500,000 at the Wichita Facility; (2) \$750,000 at the Corporation's headquarters facility at 2414 N. Woodlawn Blvd., Wichita, KS 67220 (3) \$500,000 at the Arkansas City Facility; (4) \$500,000 at the Clay Center Facility; (5) \$1,000,000 at the Dodge City Facility; (6) \$3,000,000 at the Emporia Facility; (7) \$500,000 at the Fort Scott Facility; (8) \$1,500,000 at the Lawrence Facility; (9) \$1,000,000 at the Newton Facility; (10) \$1,500,000 at the Olathe Facility; (11) \$500,000 at the Parsons Facility; (12) \$8,000,000 at the Salina Facility; and (13) \$1,500,000 at the Topeka Facility (collectively, the "Projects"). At the Corporation's discretion, the Bond proceeds may be allocated finance all, a part, or none, of the Projects at each location.

The balance of the proceeds of the Bonds will be applied to debt service reserve funds and related costs of issuance or other common costs of the Bonds.

The Bonds and the interest thereon will not be a debt or general obligation of the City, the State of Kansas, or any municipal corporation thereof, and neither the Bonds nor the interest thereon are payable in any manner from tax revenues of any kind or character.

Interested individuals may participate in the public hearing in person or via conference call. Please call toll free 844-621-3956 and use access code 145 880 8929 followed by # to join the conference.

This public hearing does not impose any liability on the Authority or the State of Kansas but is an accommodation by the Authority to satisfy the requirements of Section 147(f) of the Internal Revenue Code of 1986.

All individuals who appear at the hearing will be given an opportunity to express their views related to the proposed plan of finance for the projects described above and issuance of the Bonds, and all written comments previously filed with the Authority at its offices at 534 S. Kansas Ave., Suite 800, Topeka, Kansas, will be considered. Additional information regarding the projects described above may be obtained by contacting the Kansas Development Finance Authority.

Dated September 5, 2024.

Rebecca E. Floyd President Kansas Development Finance Authority

Doc. No. 052448

(Published in the Kansas Register September 5, 2024.)

# City of Oakley, Kansas

### Notice of Intent to Seek Private Placement General Obligation Bonds, Series 2024A

Notice is hereby given that City of Oakley, Kansas (the "Issuer") proposes to seek a private placement of the above-referenced bonds (the "Bonds"). The maximum aggregate principal amount of the Bonds shall not exceed \$600,000. The proposed sale of the Bonds is in all respects subject to approval of a bond purchase agreement between the Issuer and the purchaser of the Bonds and (continued)

the passage of an ordinance and adoption of a resolution by the governing body authorizing the issuance of the Bonds and the execution of various documents necessary to deliver the Bonds.

Dated August 19, 2024.

Leann Hughes City Clerk City of Oakley, Kansas

Doc. No. 052446

(Published in the Kansas Register September 5, 2024.)

# Sedgwick County, Kansas

Summary Notice of Bond Sale \$15,185,000\* General Obligation Refunding and Improvement Bonds, Series B, 2024

(General Obligation Bonds Payable from Unlimited Ad Valorem Taxes)

#### **Bids**

Subject to the Notice of Bond Sale dated August 21, 2024 (the "Notice"), email and electronic bids will be received by Baker Tilly Municipal Advisors LLC, the Issuer's Municipal Advisor (the "Municipal Advisor") on behalf of the Chief Financial Officer of Sedgwick County, Kansas (the "Issuer") in the case of email bids, at the address set forth below, and in the case of electronic bids, through PARITY® until 10:00 a.m. (Central Time) October 1, 2024, for the purchase of the above-referenced bonds (the "Bonds"). No bid of less than 100% (Par) of the principal amount of the Bonds and accrued interest thereon to the date of delivery will be considered.

#### **Bond Details**

The Bonds will consist of fully registered bonds in the denomination of \$5,000 or any integral multiple thereof. The Bonds will be dated October 23, 2024, and will become due on August 1 in the years as follows:

Year	Principal Amount*	Year	Principal Amount*
2025	\$1,105,000	2035	\$430,000
2026	1,095,000	2036	450,000
2027	1,110,000	2037	470,000
2028	1,125,000	2038	490,000
2029	1,095,000	2039	510,000
2030	905,000	2040	530,000
2031	910,000	2041	550,000
2032	915,000	2042	575,000
2033	925,000	2043	600,000
2034	775,000	2044	620,000

<sup>\*</sup> Subject to change, see the Notice

The Bonds will bear interest from the date thereof at rates to be determined when the Bonds are sold as hereinafter provided, which interest will be payable semiannually on February 1 and August 1 in each year, beginning on February 1, 2025.

#### **Book-Entry-Only System**

The Bonds shall be registered under a book-entry-only system administered through DTC.

#### **Paying Agent and Bond Registrar**

Treasurer of the State of Kansas, Topeka, Kansas.

#### **Good Faith Deposit**

Each bid shall be accompanied (in the manner set forth in the Notice) by a good faith deposit in the form of a cashier's or certified check drawn on a bank located in the United States of America or a wire transfer in Federal Reserve funds immediately available for use by the Issuer in the amount of \$303,700.

#### Delivery

The Issuer will pay for preparation of the Bonds and will deliver the same properly prepared, executed, and registered without cost to the successful bidder on or about October 23, 2024, to DTC for the account of the successful bidder.

#### **Assessed Valuation and Indebtedness**

The Equalized Assessed Tangible Valuation for Computation of Bonded Debt Limitations for the year 2024 is \$7,618,229,940. The total general obligation indebtedness of the Issuer as of the Dated Date, including the Bonds being sold, is \$49,850,000.

#### Approval of Bonds

The Bonds will be sold subject to the legal opinion of Gilmore & Bell, P.C., Wichita, Kansas, Bond Counsel to the Issuer, whose approving legal opinion as to the validity of the Bonds will be furnished and paid for by the Issuer, printed on the Bonds, and delivered to the successful bidder as and when the Bonds are delivered.

### **Additional Information**

Additional information regarding the Bonds may be obtained from the undersigned, or from the Municipal Advisor at the addresses set forth below.

#### Issner

Sedgwick County Division of Finance Attn: Chief Financial Officer 100 N. Broadway, Suite 610 Wichita, KS 67202 316-660-7591 Fax: 316-383-7729

Lindsay.PoeRousseau@sedgwick.gov

# **Municipal Advisor**

Baker Tilly Municipal Advisors, LLC Attn: Bond Services 30 E. 7th St., Suite 3025 Saint Paul, MN 55101 651-223-3000 bids@bakertilly.com

Dated August 21, 2024.

Lindsay Poe Rousseau Chief Financial Officer Sedwick County Division of Finance

Doc. No. 052456

#### State of Kansas

# **Corporation Commission**

# Notice of Hearing on Proposed Administrative Regulations

The Kansas Corporation Commission (Commission) will conduct a public hearing at 10:00 a.m. Thursday, November 7, 2024, via Zoom, to consider the adoption of the proposed rules and regulations of the State Corporation Commission of the State of Kansas on a permanent basis.

This notice exceeds the 60-day notice requirement of the pending public hearing and shall constitute the beginning of the public comment period for the purpose of receiving written public comments on the proposed rules and regulations. A complete copy of the proposed regulations, economic impact statements and online comment form may be found on the Kansas Corporation Commission website at <a href="http://kcc.ks.gov/your-opinion-matters">http://kcc.ks.gov/your-opinion-matters</a>. Public comments will be accepted through 5:00 p.m. November 6, 2024. Comments may be submitted online, by contacting Ahsan Latif at <a href="https://ahsan.latif@ks.gov">https://ahsan.latif@ks.gov</a>, or by letter to Ahsan Latif, Litigation Counsel, State Corporation Commission, 1500 SW Arrowhead Rd., Topeka, KS 66604.

All interested parties may participate in the Zoom meeting by registering on the KCC website at http://kcc.ks.gov/your-opinion-matters prior to 12:00 p.m. November 6, 2024. The meeting will also be broadcast on our YouTube channel at https://www.youtube.com/channel/UC-uTcucl0oyHJr-\_iOheuuw. No registration is required for viewing.

Any individual with a disability may request an accommodation in order to participate in the public hearing and may request the proposed regulations and economic impact statements in an accessible format. Requests for accommodation to participate in the hearing should be made at least five (5) working days in advance of the hearing by contacting Jared Harsin at 785-271-3161 or the Kansas Relay Center at 1-800-766-3777.

A summary of the proposed regulations and their economic impact is as follows: (Note: Statements indicating that a regulation is "not anticipated to have any economic impact" are intended to indicate that no economic impact on the State Corporation Commission, other state agencies, state employees, or the general public has been identified.)

#### **K.A.R.** 82-4-1 – **Definitions.**

The proposed amendments to this regulation, which defines the terms used in "Article 4 – Motor Carriers of Persons and Property," includes updating the definition of "out-of-service" and "OOS" to include the latest version of the North American Standard Out-of-Service Criteria. The proposed amendments are not anticipated to have an economic impact.

# K.A.R. 82-4-3b – Procedures for transportation workplace drug and alcohol testing programs.

This regulation adopts portions of the Federal Motor Carrier Safety Administration ("FMCSA") regulations (49 C.F.R. Part 40) governing the procedures for workplace drug and alcohol testing programs relevant to motor carriers. The proposed amendments also include edits to reflect minor grammar and form corrections as

well as the most recent updates to FMCSA regulations. The proposed amendments are not anticipated to have an economic impact.

# K.A.R. 82-4-3c – Testing for controlled substances and alcohol use.

This regulation adopts portions of the FMCSA regulations (49 C.F.R. Part 382) governing the procedures involved in testing for controlled substances and alcohol use. The amendments include edits to reflect minor grammar and form corrections and the most recent updates to FMCSA regulations. The proposed amendments are not anticipated to have an economic impact.

# K.A.R. 82-4-3i – Parts and accessories necessary for safe operation.

This regulation adopts portions of the FMCSA regulations (49 C.F.R. Part 393) governing the parts and accessories necessary for the safe operation of commercial motor vehicles. The proposed amendments to this regulation include edits to reflect minor grammar and form corrections, deletions and additions required to reflect the most recent updates to FMCSA regulations. The proposed amendments are not anticipated to have an economic impact.

### K.A.R. 82-4-30a – Applications for interstate registration.

This existing regulation adopts relevant portions of the FMCSA regulations (49 C.F.R. Part 367) and Unified Carrier Registration (UCR) Act (49 U.S.C. 14504a) which together establish the rules and registration fees owed by carriers based in Kansas that operate interstate. The proposed changes to this regulation allows the Kansas Corporation Commission and Kansas Highway Patrol to enforce the updated fee schedule approved for use in 2024. The proposed amendments are anticipated to have an economic impact in that fees have increased by \$9 for most carriers.

Lynn M. Retz Executive Director Kansas Corporation Commission

Doc. No. 052462

#### State of Kansas

#### Kansas Lottery

#### **Temporary Administrative Regulations**

#### Article 4.—INSTANT GAMES AND DRAWINGS

- **111-4-3794.** "Holiday Surprize" instant ticket lottery game number 428. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Holiday Surprize." The rules for this game are contained in K.A.R. 111-3-1 *et seg.* and 111-4-3794.
- (b) The "prize symbols" and "captions" for this game are as follows:

Prize Symbols	Captions
FREE	TICKET
\$1.00	ONE\$
\$2.00	TWO\$

\$5.00	FIVE\$
$20^{.00}$	TWENTY
\$100	ONE-HUN

- (c) For this game, a prize symbol shall appear in six play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 299.
- (e) The price of instant tickets sold by a retailer for this game shall be \$1.00 each.
- (f) "Holiday Surprize" is a symbol match game. The player will scratch the play area to reveal six prize symbols. If a player matches three identical prize symbols, the player wins that prize symbol amount.
  - (g) Each ticket in this game may win up to one time.
- (h) Approximately 1,800,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of instant prizes in this game shall be as follows:

		Winners Per	
	Prize	1,800,000	Prize Cost
Free Ticket	\$1	120,000	\$120,000
\$1	\$1	236,100	\$236,100
\$2	\$2	141,000	\$282,000
\$5	\$5	24,600	\$123,000
\$20	\$20	3,000	\$60,000
\$100	\$100	2,700	\$270,000
Players Loyalty Program	\$11,511		\$11,511
2nd Chance Drawing	\$1,000		\$1,000
	TOTAL	527,400	\$1,103,611

- (j) The odds of winning a prize in this game are approximately one in 3.41. (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-8-9-24, July 10, 2024.)
- **111-4-3795.** "Happy Holly Days" instant ticket lottery game number 429. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Happy Holly Days." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3795.
- (b) The "play and prize symbols" and "captions" for this game are as follows:

Game: 1	Play Symbols	Captions
	Symbol of a snowflake	SNWFLK
	Symbol of a sleigh	SLEIGH
	Symbol of an ornament	ORNMNT
	Symbol of a nutcracker	NUTCKR
	Symbol of holly	HOLLY
	Symbol of a Santa hat	HAT
	Symbol of a gift	GIFT
	Symbol of a candy cane	CDYCAN
	Symbol of a candle	CANDLE
	Symbol of a bow	BOW
	Symbol of a bell	BELL
	Symbol of an angel	ANGEL
	Symbol of a train	TRAIN
	Symbol of a scarf	SCARF

Symbol of a stocking	STCKNG
Symbol of a reindeer	RNDEER
Symbol of an elf	ELF
Symbol of a wreath	DBL

Game: 2	Play Symbols	<b>Captions</b>
	06	SIX
	07	SEV
	08	EGT
	09	NIN
	11	ELVN
	12	TWLV
	13	THRN
	14	FRTN
	15	FIFTN
	16	SIXTN
	17	SEVTN
	18	EGTN
	19	NINTN
	Symbol of a Christmas tree	WIN

Prize Symbols	Captions
FREE	TICKET
\$2.00	TWO\$
$$4^{.00}$	FOUR\$
$10^{.00}$	TEN\$
$20^{.00}$	TWENTY
$50^{.00}$	FIFTY
\$200	TWO-HUN
\$500	FIVE-HUN
\$10000	10-THOU

- (c) For this game, a play/prize symbol shall appear in 34 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 149.
- (e) The price of instant tickets sold by a retailer for this game shall be \$2.00 each.
- (f) "Happy Holly Days" consists of two separate games. Game 1 is a slot style symbol match game. In the slot style game play area, there are five "ROWS" a player will scratch to reveal play symbols and a prize amount. Each "ROW" consists of three play symbols and a prize amount. If a player reveals three identical symbols in the same "ROW," the player wins the prize amount shown for that "ROW." If a player reveals two identical symbols and a symbol of a wreath in the same "ROW," the player wins double the prize shown for that "ROW."

Game 2 is a key number match game. The player will scratch the play area to reveal two "WINNING NUMBERS" and six "YOUR NUMBERS" with a prize amount below each of the "YOUR NUMBERS." If a player matches any of the "YOUR NUMBERS" to any of the "WINNING NUMBERS," the player wins the prize shown below that number. If the player reveals a symbol of a Christmas tree, the player automatically wins the prize amount shown below that symbol.

(g) Each ticket in this game may win up to 11 times.

- (h) Approximately 1,200,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 150,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of instant prizes in this game shall be as follows:

		Winners Per	
	Prize	1,200,000	Prize Cost
\$2 (Free Ticket)	\$2	160,000	\$320,000
\$2	\$2	122,400	\$244,800
\$4	\$4	24,000	\$96,000
\$2 (2X)	\$4	32,000	\$128,000
\$10	\$10	3,200	\$32,000
\$4 (2X) + \$2	\$10	10,400	\$104,000
\$2 x 5	\$10	8,400	\$84,000
\$20	\$20	2,000	\$40,000
\$10 (2X)	\$20	2,400	\$48,000
\$4 (2X) + \$2 + \$10	\$20	2,400	\$48,000
\$2 x 10	\$20	1,600	\$32,000
\$4 x 5	\$20	1,600	\$32,000
\$50	\$50	800	\$40,000
(\$4 x 10) + \$10	\$50	960	\$48,000
\$20 (2X) + \$10	\$50	960	\$48,000
\$10 x 5	\$50	880	\$44,000
\$200	\$200	56	\$11,200
$$50 (2X) + $50 + ($10 \times 5)$	\$200	64	\$12,800
$($20 \times 5) + ($50 \times 2)$	\$200	80	\$16,000
$($20 \times 6) + ($10 \times 4) + $20 (2X)$	\$200	80	\$16,000
\$500	\$500	16	\$8,000
\$200 (2X) + (\$50 x 2)	\$500	24	\$12,000
\$10,000	\$10,000	8	\$80,000
Players Loyalty Program	\$15,655		\$15,655
2nd Chance Drawing	\$5,000		\$5,000
_	TOTAL	374,328	\$1,565,455

- (j) The odds of winning a prize in this game are approximately one in 3.21. (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-8-9-24, July 10, 2024.)
- **111-4-3796.** "Full of \$500s" instant ticket lottery game number 430. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Full of \$500s." The rules for this game are contained in K.A.R. 111-3-1 *et seg.* and 111-4-3796.
- (b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
01	ONE
02	TWO
03	THR
04	FOR
06	SIX
07	SEV
08	EGT
09	NIN
11	ELVN
12	TWLV
13	THRN
14	FRTN
16	SIXTN

17	SEVTN
18	EGTN
19	NINTN
21	TWYONE
22	TWYTWO
23	TWYTHR
24	TWYFOR
25	TWYFIV
26	TWYSIX
27	TWYSEV
28	TWYEGT
29	TWYNIN
30	THRTY
31	THRONE
32	THRTWO
33	THRTHR
34	THRFOR
35	THRFIV
36	THRSIX
37	THRSEV
38	THREGT
39	THRNIN
40	FORTY
41	FRYONE
42	FRYTWO
43	FRYTHR
44	FRYFOR
Symbol of a present	WIN

Prize Symbols	Captions
FREE	TICKET
\$5.00	FIVE\$
$10^{.00}$	TEN\$
$15^{.00}$	FIFTEEN
$20^{.00}$	TWENTY
$50^{.00}$	FIFTY
\$100	ONE-HUN
\$500	FIVE-HUN

- (c) For this game, a play/prize symbol shall appear in 45 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 059.
- (e) The price of instant tickets sold by a retailer for this game shall be \$5.00 each.
- (f) "Full of \$500s" is a key number match game with an instant win. The player will scratch the play area to reveal five "WINNING NUMBERS" and 20 "YOUR NUMBERS" with a prize amount below each of the "YOUR NUMBERS." If a player matches any of the "YOUR NUMBERS" to any of the "WINNING NUMBERS," the player wins the prize shown below that number. If a player reveals a symbol of a present, the player instantly wins the prize shown below that symbol.
  - (g) Each ticket in this game may win up to 20 times.
- (h) Approximately 750,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes (continued)

per prize pool of 150,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

		Winners Per	
	Prize	750,000	Prize Cost
\$5 FREE TICKET	\$5	75,000	\$375,000
\$5	\$5	50,000	\$250,000
\$10	\$10	30,000	\$300,000
\$5 + \$5	\$10	30,000	\$300,000
\$20	\$20	4,000	\$80,000
\$15 + \$5	\$20	4,000	\$80,000
\$5 x 4	\$20	4,000	\$80,000
\$10 x 2	\$20	4,000	\$80,000
\$50	\$50	1,100	\$55,000
$(\$15 \times 3) + \$5$	\$50	1,100	\$55,000
\$5 x 10	\$50	1,100	\$55,000
\$10 x 5	\$50	1,100	\$55,000
\$100	\$100	300	\$30,000
\$5 x 20	\$100	300	\$30,000
\$20 x 5	\$100	300	\$30,000
\$10 x 10	\$100	300	\$30,000
\$500	\$500	300	\$150,000
$(\$50 \times 5) + (\$20 \times 12) + \$10$	\$500	300	\$150,000
$(\$100 \times 2) + (\$50 \times 6)$	\$500	300	\$150,000
(\$10 x 7) + (\$5 x 6) + (\$50 x 4) +			
(\$100 x 2)	\$500	300	\$150,000
Players Loyalty Program	\$24,850		\$24,850
2nd Chance Draw	\$10,000		\$10,000
	TOTAL	207,800	\$2,519,850

- (j) The odds of winning a prize in this game are approximately one in 3.61. (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-8-9-24, July 10, 2024.)
- 111-4-3797. "Peppermint Payout Multiplier" instant ticket lottery game number 431. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Peppermint Payout Multiplier." The rules for this game are contained in K.A.R. 111-3-1 et seg. and 111-4-3797.
- (b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
06	SIX
07	SEV
08	EGT
09	NIN
11	ELVN
12	TWLV
13	THRN
14	FRTN
15	FIFTN
16	SIXTN
17	SEVTN
18	EGTN
19	NINTN
21	TWYONE
22	TWYTWO
23	TWYTHR
24	TWYFOR
25	TWYFIV

TWYSIX TWYSEV
TWYSEV
TWYEGT
TWYNIN
THRTY
THRONE
THRTWO
THRTHR
THRFOR
THRFIV
THRSIX
THRSEV
THREGT
THRNIN
FORTY
FRYONE
FRYTWO
FRYTHR
FRYFOR
FRYFIV

#### MULTIPLIER SYMBOLS:

Symbol of a 1X	1TIMES
Symbol of a 2X	2TIMES
Symbol of a 5X	5TIMES
Symbol of a 10X	10TIMES

#### **BONUS SYMBOLS:**

Symbol of a present	WIN
Symbol of a Christmas tree	TREE
Symbol of a wreath	WREATH
Symbol of a gift tag	TAG
Symbol of a star	STAR
Symbol of a stocking	STCKNG
Symbol of a candle	CANDLE
Symbol of a snowflake	SNWFLK
Symbol of an ornament	ORNAMT

Bonus Prize Symbols & Prize Symbols	Captions
$10^{.00}$	TEN\$
$20^{.00}$	TWENTY
$50^{.00}$	FIFTY
\$100	ONE-HUN

<b>Additional Prize Symbols</b>	<b>Captions</b>
\$500	FIVE-HUN
\$1000	ONETHOU
\$75000	75-THOU

- (c) For this game, a play/prize symbol shall appear in 54 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 029.
- (e) The price of instant tickets sold by a retailer for this game shall be \$10.00 each.

- (f) "Peppermint Payout Multiplier" is a number reveal game with a multiplier feature and four bonus spots. The main play area consists of seven different rows of peppermint-themed play spots covered with translucent material and a prize amount printed beside each row. The player will scratch the play area to reveal 22 "YOUR NUMBERS." The player will then uncover each number in the main play area that matches any revealed "YOUR NUMBER." If the player uncovers all the numbers in a single row, the player wins the prize amount shown for that row. The player will also scratch the multiplier feature. Each prize won in the main play area is multiplied by that amount. The player will also scratch the four bonus spots. If the player reveals a symbol of a present in any bonus spot, the player wins the amount shown in that bonus spot.
  - (g) Each ticket in this game may win up to nine times.
- (h) Approximately 400,020 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 200,010 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of instant prizes in this game shall be as follows:

<b>6</b>	Bonus 1	Bonus 2	Bonus 3	Bonus 4	Prize	Winners Per 400,020	Prize Cost
\$10					\$10	17,000	\$170,000
				\$10	\$10	18,000	\$180,000
			\$10		\$10	18,000	\$180,000
		\$10			\$10	18,000	\$180,000
	\$10				\$10	18,000	\$180,000
\$20					\$20	7,000	\$140,000
\$10 (2X)					\$20	12,000	\$240,000
	\$20				\$20	7,000	\$140,000
		\$20			\$20	7,000	\$140,000
			\$20		\$20	7,000	\$140,000
				\$20	\$20	7,000	\$140,000
\$50					\$50	1,000	\$50,000
	\$50				\$50	1,000	\$50,000
		\$50			\$50	1,000	\$50,000
			\$50		\$50	1,000	\$50,000
				\$50	\$50	1,000	\$50,000
\$10 (5X)					\$50	1,600	\$80,000
\$100					\$100	200	\$20,000
\$10 (10X)					\$100	400	\$40,000
\$50		\$20	\$20	\$10	\$100	200	\$20,000
\$50 (2X)					\$100	400	\$40,000
\$10 + \$20 + \$50	\$10			\$10	\$100	400	\$40,000
		\$100			\$100	300	\$30,000
			\$100		\$100	200	\$20,000
\$10 + \$10	\$10	\$10	\$10	\$50	\$100	400	\$40,000
\$500					\$500	30	\$15,000
\$100 (5X)					\$500	60	\$30,000
\$10 + \$20 + \$50 +	***	***		***			***
\$100	\$100	\$100	\$20	\$100	\$500	60	\$30,000
\$50 (10X)					\$500	60	\$30,000
\$1,000					\$1,000	6	\$6,000
\$500 + \$10 + \$20 + \$50 + \$100	\$100	\$20	\$100	\$100	\$1,000	10	\$10,000
\$100 (10X)					\$1,000	8	\$8,000
\$75,000					\$75,000	4	\$300,000
Players Loyalty Pro	ogram				\$28,060		\$28,060
2nd Chance Drawi	ng				\$15,000		\$15,000
					TOTAL	145,338	\$2,882,060

(j) The odds of winning a prize in this game are approximately one in 2.75. (Authorized by K.S.A. 2023

Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-8-9-24, July 10, 2024.)

- **111-4-3798.** "Gifts of Gold" instant ticket lottery game number 432. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Gifts of Gold." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3798.
- (b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
01	ONE
02	TWO
03	THR
04	FOR
05	FIV
06	SIX
07	SEV
08	EGT
09	NIN
11	ELVN
12	TWLV
13	THRN
14	FRTN
15	FIFTN
16	SIXTN
17	SEVTN
18	EGTN
19	NINTN
21	TWYONE
22	TWYTWO
23	TWYTHR
24	TWYFOR
25	TWYFIV
26	TWYSIX
27	TWYSEV
28	TWYEGT
29	TWYNIN
30	THRTY
31	THRONE
32	THRTWO
33	THRTHR
34	THRFOR
35	THRFIV
36	THRSIX
37	THRSEV
38	THREGT
39	THRNIN
41	FRYONE
42	FRYTWO
43	FRYTHR
44	FRYFOR
45	FRYFIV
46	FRYSIX
47	FRYSEV
48	FRYEGT
49	FRYNIN
51	FTYONE
52	FTYTWO
53	FTYTHR
54	FTYFOR
55	FTYFIV
56	FTYSIX
	(continued)

	57	FTYSEV
	Symbol of a stack of cash	WIN\$100
FRONT & BACK:	Prize Symbols	Captions
	FREE	TICKET
	$10^{.00}$	TEN\$
	$20^{.00}$	TWENTY
	40.00	FORTY
	50.00	FIFTY
	\$100	ONE-HUN
	\$200	TWO-HUN
	\$500	FIVE-HUN
	\$1000	ONETHOU
	\$10000	10-THOU
	\$100000	100-THOU
BONUS AREA 1:	Play Symbols	Captions
	Symbol of a wreath	WREATH
	Symbol of a tree	TREE
	Symbol of a vault	VAULT
	Symbol of a star	STAR
	Symbol of a snowflake	SNWFLK
	Symbol of a coin	COIN
BONUS AREA 2:	Play Symbols	Captions
	Symbol of a sleigh	SLEIGH
	Symbol of a treasure chest	TRCHST
	Symbol of a poinsettia	PNTSTA
	Symbol of an ornament	ORNMNT
	Symbol of a nutcracker	NUTCKR
	Symbol of a wallet	WALLET
BONUS AREA 3:	<b>Play Symbols</b>	Captions
	Symbol of holly	HOLLY
	Symbol of a Santa hat	HAT
	Symbol of a gold bar	GLDBAR
	Symbol of a present	GIFT
	Symbol of a pot of gold	POTGLD
	Symbol of a drum	DRUM
ALL BONUS AREA:	Prize Symbols	Captions
	$20^{.00}$	TWENTY
	$40^{.00}$	FORTY
	50.00	FIFTY
	\$100	ONE-HUN
	\$200	TWO-HUN
BACK OF TICKET:	Play Symbols	Captions
	Symbol of a candy cane	CDYCNE
	Symbol of a candle	CANDLE
	Symbol of a bow	BOW
	Symbol of a bell	BELL
	Symbol of an angel	ANGEL
	Symbol of a train	TRAIN
	Symbol of the sun	SUN

- Symbol of Santa Claus **SANTA** Symbol of the moon MOON Symbol of a rocking horse **RCKHRS** Symbol of a cup of hot chocolate **HOTCHO** Symbol of a heart HEART **FIRPLC** Symbol of a fireplace Symbol of a snowman **SNOMAN** Symbol of a scarf **SCARF** Symbol of a stocking STCKNG Symbol of a reindeer RNDEER Symbol of an elf ELF **PGYBNK** Symbol of a piggy bank Symbol of a gold nugget NUGGET Symbol of a moneybag MNYBAG Symbol of a gingerbread man **GNGMAN** Symbol of Christmas lights LIGHTS Symbol of a snow globe SNOGLB Symbol of a rainbow **RNBOW** Symbol of a purse **PURSE** VASE Symbol of a vase Symbol of a globe **GLOBE**
- (c) For this game, a play/prize symbol shall appear in 113 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 014.
- (e) The price of instant tickets sold by a retailer for this game shall be \$20.00 each.
- (f) "Gifts of Gold" is a key number match game with an instant win, three symbol match bonus areas and an additional symbol match play area on the back of the ticket. On the front of the ticket, the player will scratch the play area to reveal eight "WINNING NUMBERS" and 32 "YOUR NUMBERS" with a prize amount below each of the "YOUR NUMBERS." If a player matches any of the "YOUR NUMBERS" to any of the "WINNING NUMBERS," the player wins the prize shown below that number. If a player reveals a symbol of a stack of cash, the player instantly wins \$100. The player will scratch the three bonus areas. If the player reveals two like symbols in the same bonus area, the player wins the prize amount shown in that bonus area. On the back of the ticket, the player will scratch the eight "ROWS" to reveal three play symbols and a prize symbol for each "ROW." Each "RÓW" plays separately. If the player reveals three identical symbols in the same "ROW," the player wins the prize amount revealed for that "ROW."
  - (g) Each ticket in this game may win up to 40 times.
- (h) Approximately 300,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of instant prizes in this game shall be as follows:

	Instant Win					Winners Per	
	<b>\$100</b>	Bonus 1	Bonus 2	Bonus 3	Prize	300,000	Prize Cost
\$20 FREE TICKET					\$20	31,000	\$620,000
\$20					\$20	13,000	\$260,000
***		\$20			\$20	10,000	\$200,000
\$40		420		420	\$40	5,925	\$237,000
		\$20	440	\$20	\$40	5,925	\$237,000
<b>#20</b>			\$40	<b>#20</b>	\$40	5,925	\$237,000
\$20 \$50				\$20	\$40 \$50	5,925 7,000	\$237,000
<b>\$30</b>				\$50	\$50 \$50	7,000	\$350,000 \$350,000
\$20 + \$10		\$20		<b>\$30</b>	\$50 \$50	7,000	\$350,000
\$100		ΨΣΟ			\$100	400	\$40,000
<b>\$100</b>			\$100		\$100	365	\$36,500
	\$100		,		\$100	750	\$75,000
\$50		\$50			\$100	365	\$36,500
\$20 x 3				\$40	\$100	370	\$37,000
		\$40	\$40	\$20	\$100	500	\$50,000
\$40 x 2			\$20		\$100	350	\$35,000
\$200					\$200	210	\$42,000
		\$200			\$200	160	\$32,000
\$50		\$100	\$50		\$200	200	\$40,000
\$100	\$100				\$200	250	\$50,000
$($20 \times 6) + $10$		\$50		\$20	\$200	200	\$40,000
\$500	***				\$500	80	\$40,000
(\$20 x 20)	\$100		420	4.40	\$500	80	\$40,000
$(\$50 \times 4) + (\$20 \times 2) + \$200$	44.00		\$20	\$40	\$500	80	\$40,000
$(\$20 \times 10) + (\$50 \times 4)$	\$100	450			\$500	90	\$45,000
$(\$20 \times 5) + (\$50 \times 5)$	\$100	\$50			\$500	90	\$45,000
\$1,000 \$50 × 12	¢100		¢200	¢100	\$1,000	15 14	\$15,000
\$50 x 12 \$100 x 5	\$100 \$100	\$100	\$200 \$100	\$100 \$200	\$1,000 \$1,000	14 20	\$14,000 \$20,000
$(\$50 \times 8) + (\$40 \times 5) + (\$20 \times 10)$	\$100 \$100	\$100 \$50	\$100 \$50	\$200	\$1,000	20	\$20,000
$(\$20 \times 20) + (\$10 \times 9) + (\$40 \times 4) + (\$50 \times 3)$	\$100	\$30 \$40	\$30 \$20	\$40	\$1,000	25 25	\$25,000
\$10,000	\$100	<b>Φ4</b> 0	\$20	<b>⊅4</b> 0	\$10,000	23	\$20,000
\$1,000 x 10					\$10,000	2	\$20,000
$(\$20 \times 4) + (\$50 \times 2) + (\$100 \times 7) +$					Ψ10,000	_	Ψ20,000
$(\$200 \times 9) + (\$500 \times 6) + (\$1,000 \times 4)$	\$100	\$200		\$20	\$10,000	2	\$20,000
\$500 x 20					\$10,000	2	\$20,000
\$100,000					\$100,000	3	\$300,000
Players Loyalty Program					\$42,760		\$42,760
2nd Chance Drawing					\$20,000		\$20,000
					TOTAL	103,345	\$4,338,760
(j) The odds of winning a priz	e in this gar	ne are ap-		13		THRT	NI.
proximately one in 2.90. (Auth-				14		FORT	
Supp. 74-8710; implementing K.S				15		FIFTN	
and K.S.A. 74-8720; effective, T-11							
111-4-3799. "Funky 5'S" ins	•	•		16		SIXTN	
number 410. (a) The Kansas lotte				17		SEVTN	
stant winner lottery game entitled				18		EGHT	
for this game are contained in K.				19		NINT	
111-4-3799.	A.K. 111-5-1	et sey. and		21		TWON	E
(b) The "play and prize symbo	ole" and "car	ations" for		22		TWTW	O
	ns and caj	phons for		23		TWTH	R
this game are as follows:				24		TWFO	
Play Symbols	Caption	S		25		TWFIV	
6	SIX			26		TWSD	
7	SEVEN	ſ		27		TWSE	
8	EIGHT			28		TWEG	
9	NINE						
11	ELEVN	ſ		29		TWNII	
12	TWELV			30		THRT	
14	1 44 5 5 7						(continued)

31	THONE
2X	WIN2X
5X	WIN5X
Prize Symbols	Captions
FREE	\$2TICKET
\$1.00	ONE\$
\$2.00	TWO\$
$$4^{.00}$	FOUR\$
\$5.00	FIVE\$
$$10^{.00}$	TEN\$
\$20.00	TWENTY
\$50.00	FIFTY
\$200	TWO-HUN
\$500	FIV-HUN
\$10,000	TEN-THO

- (c) For this game, a play/prize symbol shall appear in 22 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 149.
- (e) The price of instant tickets sold by a retailer for this game shall be \$2.00 each.
- (f) "Funky 5'S" is a key number match game with multiplier features. The player will scratch the play area to reveal two "WINNING NUMBERS" and 10 "YOUR NUMBERS" with a prize amount shown below each of the "YOUR NUMBERS." If the player matches any of the "WINNING NUMBERS" to any of the "YOUR NUMBERS," the player wins the prize amount shown below that number. If a player reveals a symbol of a 2X, the player wins two times the prize amount shown below that symbol. If a player reveals a symbol of a 5X, the player wins five times the prize amount shown below that symbol.
  - (g) Each ticket in this game may win up to 10 times.
- (h) Approximately 1,200,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 150,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of instant prizes in this game shall be as follows:

	Winners Per		
	Prize	1,200,000	Prize Cost
\$2 FREE TICKET	\$2	120,000	\$240,000
\$2	\$2	40,000	\$80,000
\$2 x 2	\$4	40,000	\$160,000
\$2 (2X)	\$4	24,000	\$96,000
\$4	\$4	16,000	\$64,000
\$5	\$5	8,000	\$40,000
\$2 (2X) + \$1	\$5	6,800	\$34,000
\$5 (2X)	\$10	4,000	\$40,000
\$2 x 5	\$10	800	\$8,000
\$10	\$10	800	\$8,000
\$2 (5X)	\$10	4,000	\$40,000
\$10 (2X)	\$20	4,000	\$80,000
\$2 x 10	\$20	1,600	\$32,000
\$20	\$20	800	\$16,000
\$5 x 4	\$20	1,600	\$32,000
\$20 (2X) + \$5 (2X)	\$50	600	\$30,000

\$10 x 5	\$50	1,200	\$60,000
\$5 (2X) + \$10 + (\$5 x 6)	\$50	1,200	\$60,000
\$2 (5X) + (\$10 x 3) + \$5 (2X)	\$50	400	\$20,000
\$50	\$50	200	\$10,000
\$5 (2X) + (\$20 x 2)	\$50	400	\$20,000
\$10 (5X) + \$5 (2X) + (\$20 x 2) +			
$(\$10 \times 5) + \$50$	\$200	400	\$80,000
$20 (5X) + (10 \times 5) + 50$	\$200	240	\$48,000
\$10 (2X) + \$4 (5X) + (\$20 x 3) +			
\$50 (2X)	\$200	160	\$32,000
\$200	\$200	16	\$3,200
$(\$20 (5X) \times 3) + \$50 (2X) +$			
\$10 (5X) + \$50	\$500	32	\$16,000
\$500	\$500	8	\$4,000
(\$200 (5X) x 6) + \$500 (5X) +			
(\$500 x 3)	\$10,000	6	\$60,000
\$10,000	\$10,000	6	\$60,000
PLAYER LOYALTY PROGRAM			\$14,899
TOTAL PRIZES		277,268	\$1,488,099

- (j) The odds of winning a prize in this game are approximately one in 4.33. (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-8-9-24, July 10, 2024.)
- **111-4-3800.** "Double Match" instant ticket lottery game number 412. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Double Match." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3800.
- (b) The "play and prize symbols" and "captions" for this game are as follows:

**Play Symbols** 

**Captions** 

5	FIVE
6	SIX
7	SEVEN
11	ELEVN
12	TWELV
13	THRTN
14	FORTN
15	FIFTN
16	SIXTN
17	SEVTN
18	EGHTN
19	NINTN
21	TWONE
22	TWTWO
23	TWTHR
24	TWFOR
26	TWSIX
27	TWSEV
28	TWEGT
29	TWNIN
30	THRTY
31	THONE
32	THTWO
33	THTHR
34	THFOR
35	THFIV
36	THSIX

Prize Symbols	Captions
FREE	\$2TICKET
\$2.00	TWO\$
$$4^{.00}$	FOUR\$
\$8.00	EIGHT\$
$$10^{.00}$	TEN\$
\$20.00	TWENTY
\$25.00	TWEN-FIV
\$50.00	FIFTY
\$100	HUNDRED
\$200	TWO-HUN
\$400	FOR-HUN
\$800	EIG-HUN
\$10,000	TEN-THO

- (c) For this game, a play/prize symbol shall appear in 22 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 149.
- (e) The price of instant tickets sold by a retailer for this game shall be \$2.00 each.
- (f) "Double Match" is a key number match game and a match three game. The player will scratch the play area to reveal two "WINNING NUMBERS" and 10 "YOUR NUMBERS" with a prize amount shown below each of the "YOUR NUMBERS." If the player matches any of the "WINNING NUMBERS" to any of the "YOUR NUMBERS," the player wins the prize amount shown below that number. If a player matches three like prize amounts, the player wins that prize amount.
  - (g) Each ticket in this game may win up to three times.
- (h) Approximately 1,200,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 150,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of instant prizes in this game shall be as follows:

	Prize	Winners Per 1,200,000	Prize Cost
\$2 FREE TICKET	\$2	96,000	\$192,000
\$2	\$2	56,000	\$112,000
\$2 (MATCH 3)	\$2	72,000	\$144,000
\$4	\$4	8,000	\$32,000
\$2 x 2	\$4	8,000	\$32,000
\$4 (MATCH 3)	\$4	40,000	\$160,000
\$8	\$8	4,000	\$32,000
\$4 x 2	\$8	4,000	\$32,000
\$8 (MATCH 3)	\$8	8,000	\$64,000
\$10	\$10	800	\$8,000
\$8 (MATCH 3) + \$2	\$10	2,800	\$28,000
\$10 (MATCH 3)	\$10	8,000	\$80,000
\$20	\$20	800	\$16,000
\$10 x 2	\$20	1,600	\$32,000
\$10 (MATCH 3) + \$8 + \$2	\$20	2,720	\$54,400
\$20 (MATCH 3)	\$20	7,200	\$144,000
\$50	\$50	80	\$4,000
\$10 (MATCH 3) + (\$20 x 2)	\$50	208	\$10,400
\$50 (MATCH 3)	\$50	480	\$24,000
\$100	\$100	240	\$24,000
\$50 x 2	\$100	160	\$16,000

\$50 (MATCH 3) + (\$25 x 2)	\$100	400	\$40,000
\$100 (MATCH 3)	\$100	240	\$24,000
\$200	\$200	16	\$3,200
\$100 x 2	\$200	64	\$12,800
\$100 (MATCH 3) + (\$50 x 2)	\$200	128	\$25,600
\$200 (MATCH 3)	\$200	160	\$32,000
\$400	\$400	5	\$2,000
\$200 x 2	\$400	7	\$2,800
\$200 (MATCH 3) + (\$100 x 2)	\$400	8	\$3,200
\$400 (MATCH 3)	\$400	16	\$6,400
\$800	\$800	8	\$6,400
\$400 x 2	\$800	16	\$12,800
\$800 (MATCH 3)	\$800	8	\$6,400
\$10,000	\$10,000	8	\$80,000
PLAYER LOYALTY PROGRAM			\$15,200
	TOTAL	322,172	\$1,513,600

- (j) The odds of winning a prize in this game are approximately one in 3.72. (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-8-9-24, July 10, 2024.)
- **111-4-3801.** "Double Doubler" instant ticket lottery game number 411. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Double Doubler." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3801.
- (b) The "prize symbols" and "captions" for this game are as follows:

Prize Symbols	Captions
FREE	\$2TICKET
\$2.00	TWO\$
$$4^{.00}$	FOUR\$
\$5.00	FIVE\$
\$8.00	EIGHT\$
$$10^{.00}$	TEN\$
\$20.00	TWENTY
\$25.00	TWEN-FIV
\$50.00	FIFTY
\$100	HUNDRED
\$200	TWO-HUN
\$400	FOR-HUN
\$800	EIG-HUN
\$10,000	TEN-THO

Prize Level Game Symbols	<b>Captions</b>
SINGLE PRIZE	1XPRIZE
DOUBLE PRIZE	2XPRIZE
DOUBLE DOUBLER	4XPRIZE

- (c) For this game, a play/prize symbol shall appear in seven play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 149.
- (e) The price of instant tickets sold by a retailer for this game shall be \$2.00 each.
- (f) "Double Doubler" is a symbol match game with a multiplier spot. The player will scratch the play area to reveal six prize amounts. If the player matches three identical prize amounts, the player wins that amount.

  (continued)

The player will scratch the prize level spot. If the player reveals "SINGLE PRIZE," the player's prize amount remains the same. If the player reveals "DOUBLE PRIZE," the player wins double the winning prize amount. If the player reveals "DOUBLE DOUBLER," the player wins four times the winning prize amount.

- (g) Each ticket in this game may win one time.
- (h) Approximately 1,200,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 150,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of instant prizes in this game shall be as follows:

	Prize	Winners Per 1,200,000	Prize Cost
#2 EDEE TICKET (CD ICLE)			
\$2 FREE TICKET (SINGLE)	\$2	120,000	\$240,000
\$2 (SINGLE)	\$2	40,000	\$80,000
\$4 (SINGLE)	\$4	40,000	\$160,000
\$2 (DOUBLE)	\$4	24,000	\$96,000
\$8 (SINGLE)	\$8	16,000	\$128,000
\$2 (DOUBLE DOUBLER)	\$8	8,000	\$64,000
\$10 (SINGLE)	\$10	4,000	\$40,000
\$5 (DOUBLE)	\$10	5,600	\$56,000
\$20 (SINGLE)	\$20	4,000	\$80,000
\$10 (DOUBLE)	\$20	4,000	\$80,000
\$5 (DOUBLE DOUBLER)	\$20	4,560	\$91,200
\$50 (SINGLE)	\$50	448	\$22,400
\$25 (DOUBLE)	\$50	800	\$40,000
\$100 (SINGLE)	\$100	800	\$80,000
\$50 (DOUBLE)	\$100	320	\$32,000
\$25 (DOUBLE DOUBLER)	\$100	240	\$24,000
\$200 (SINGLE)	\$200	160	\$32,000
\$100 (DOUBLE)	\$200	144	\$28,800
\$50 (DOUBLE DOUBLER)	\$200	48	\$9,600
\$400 (SINGLE)	\$400	16	\$6,400
\$200 (DOUBLE)	\$400	8	\$3,200
\$100 (DOUBLE DOUBLER)	\$400	16	\$6,400
\$800 (SINGLE)	\$800	8	\$6,400
\$400 (DOUBLE)	\$800	16	\$12,800
\$200 (DOUBLE DOUBLER)	\$800	8	\$6,400
\$10,000 (SINGLE)	\$10,000	12	\$120,000
PLAYER LOYALTY PROGRAM			\$15,690
TOTAL PRIZES		273,204	\$1,561,290

- (j) The odds of winning a prize in this game are approximately one in 4.39. (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-8-9-24, July 10, 2024.)
- **111-4-3802.** "Word Games" instant ticket lottery game number 433. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Word Games." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3802.
- (b) The "play and prize symbols" and "captions" for all game areas are as follows:

Play Symbols	
A	
В	
C	
D	
E	

F	
G	
H	
I	
J	
K	
L	
M	
N	
O	
P	
Q	
R	
S	
T	
Ū	
V	
W	
Χ	
Y	

Z

#### GAME 2:

Play Symbols	Captions	
Symbol of 2X	2TIMES	

#### GAME 3:

Play Symbols	Captions	
Symbol of 3X	3TIMES	

#### GAME 1:

Prize Symbols	Captions
FREE	TICKET
\$1.00	ONE\$
\$3.00	THREE\$
\$5.00	FIVE\$
$$6^{.00}$	SIX\$
$$10^{.00}$	TEN\$
\$20.00	TWENTY
\$25.00	TWENFIV
\$35.00	THRFIV
\$70.00	SEVENTY
\$100	ONEHUN
\$350	THHNFTY
\$15,000	15-THOU

#### GAME 2:

Prize Symbols	Captions
\$1.00	ONE\$
\$2.00	TWO\$
\$3.00	THREE\$
\$5.00	FIVE\$
$$10^{.00}$	TEN\$
\$25.00	TWENFIV
\$100	ONEHUN
\$350	THHNFTY

GAME 3:

Prize Symbols	Captions
\$1.00	ONE\$
\$2.00	TWO\$
\$5.00	FIVE\$
\$10.00	TEN\$
\$20.00	TWENTY
\$50.00	FIFTY
\$100	ONEHUN

- (c) For this game, a play/prize symbol shall appear in 77 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 099.
- (e) The price of instant tickets sold by a retailer for this game shall be \$3.00 each.
- (f) "Word Games" is a letter match game with multipliers. There shall be 18 play symbols in the "YOUR LETTERS" section. There shall be three game play areas. There shall be 18 play spots in game one: two three-letter words, two four-letter words and a prize amount next to each word. There shall be 19 play spots in game two: two four-letter words, one five-letter word and a prize amount and multiplier next to each word. There shall be 22 play spots in game three: two five-letter words, one six-letter word and a prize amount and multiplier next to each word. Each game shall consist of words chosen at random at the time of printing.

A player will scratch the "YOUR LETTERS" section and match the corresponding letters in all three games by removing the translucent scratch-off material covering the matching letter. If a player scratches a complete word in any of the three games, the player wins the corresponding prize for that word. The entire word must be uncovered to win the corresponding prize. If a player uncovers an entire word in Game 2, the player wins two times the prize amount shown for that word. If a player uncovers an entire word in Game 3, the player wins three times the prize amount shown for that word.

- (g) Each ticket in this game may win up to 10 times.
- (h) Approximately 1,440,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 240,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of instant prizes in this game shall be as follows:

Por

"Game 1"	"Game 2"	"Game 3"	Prize	1,440,000	Prize Cost
Free \$3 Ticket			\$3	158,400	\$475,200
\$1	\$2 w/2X		\$5	21,600	\$108,000
	\$1 w/2X	\$1 w/3X	\$5	18,000	\$90,000
\$5			\$5	18,000	\$90,000
\$3 x 2			\$6	28,800	\$172,800
\$6			\$6	21,600	\$129,600
\$5 x 2			\$10	14,400	\$144,000
	\$5 w/2X		\$10	14,400	\$144,000
\$10			\$10	14,400	\$144,000
	\$10 w/2X		\$20	7,200	\$144,000
\$20			\$20	7,200	\$144,000
\$5 x 3	\$5 w/2X		\$25	1,800	\$45,000
\$25			\$25	1,800	\$45,000

\$5	(\$5 w/2X) + (\$10 w/2X)		\$35	4,800	\$168,000
(\$3 x 3) + \$1	(\$3 w/2X) + (\$2 w/2X)	\$5 w/3X	\$35	4,800	\$168,000
\$35			\$35	4,800	\$168,000
\$20	\$10 w/2X	\$10 w/3X	\$70	1,200	\$84,000
\$10 x 4	\$2 w/2X x 3	\$2 w/3X x 3	\$70	1,200	\$84,000
\$70			\$70	1,200	\$84,000
$(\$5 \times 3) + \$10$	\$5 w/2X x 3	\$5 w/3X x 3	\$100	150	\$15,000
\$20 x 2		\$10 w/3X x 2	\$100	150	\$15,000
\$100			\$100	150	\$15,000
\$20 x 4	\$25 w/2X x 3	\$20 w/3X x 2	\$350	15	\$5,250
	\$25 w/2X	\$100 w/3X	\$350	15	\$5,250
\$20 + \$100	\$100 w/2X	\$10 w/3X	\$350	15	\$5,250
\$100 x 4	\$25 w/2X x 3	\$50 w/3X	\$700	15	\$10,500
\$350 + \$100	\$25 w/2X x 2	\$50 w/3X	\$700	15	\$10,500
	\$350 w/2X		\$700	15	\$10,500
\$15,000			\$15,000	5	\$75,000
Player Loyalty Program					\$27,930
TOTAL:				346,145	\$2,826,780

- (j) The odds of winning a prize in this game are approximately one in 4.16. (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-8-9-24, July 10, 2024.)
- **111-4-3803.** "Puzzle Payout" instant ticket lottery game number 434. (a) The Kansas Lottery may conduct an instant winner lottery game entitled "Puzzle Payout." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3803.
- (b) The "play symbols," "prize symbols," and "captions" for this game are as follows:

#### **Play Symbols**

01 02 03 04 05 06 07 08 09 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36

Captions
TICKET
FIVE\$
TEN\$
FIFTN\$
TWENTY
FIFTY
ONEHUN
FIVHUN
ONETHO
25-THOU

- (c) For this game, a play/prize symbol shall appear in 65 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 059.
- (e) The price of instant tickets sold by a retailer for this game shall be \$5.00 each.
- (f) "Puzzle Payout" consists of the following two play areas: "YOUR PIECES" containing 20 numbers covered in opaque latex; and, nine puzzles each containing four numbered puzzle pieces covered in translucent latex above a "PRIZE" amount covered in opaque latex. Each puzzle plays separately. The player will scratch the (continued)

"YOUR PIECES" play area to reveal all 20 numbers. For each number revealed in "YOUR PIECES" the player will find the corresponding number in the puzzles play area and scratch only that number. The player will continue the process until all of the "YOUR PIECES" and the corresponding number locations on the puzzles have been revealed. If a player completely reveals all four pieces of a puzzle, the player shall scratch the "PRIZE" area within that puzzle and win the prize shown.

(g) Each ticket in this game may win up to five times.

(h) Approximately 720,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 240,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

		Winners Per	
	Prize	720,000	Prize Cost
Free \$5 Ticket	\$5	120,000	\$600,000
\$5 x 2	\$10	12,000	\$120,000
\$10	\$10	12,000	\$120,000
\$5 x 3	\$15	12,000	\$180,000
\$10 + \$5	\$15	6,000	\$90,000
\$15	\$15	6,000	\$90,000
\$5 x 4	\$20	3,000	\$60,000
\$15 + \$5	\$20	3,000	\$60,000
\$10 x 2	\$20	3,000	\$60,000
\$20	\$20	3,000	\$60,000
(\$20 x 2) + \$10	\$50	1,800	\$90,000
(\$10 x 3) + \$20	\$50	1,800	\$90,000
\$10 x 5	\$50	1,800	\$90,000
$(\$20 \times 2) + (\$5 \times 2)$	\$50	1,800	\$90,000
\$50	\$50	1,800	\$90,000
(\$20 x 2) + \$10 + \$50	\$100	600	\$60,000
\$20 x 5	\$100	600	\$60,000
\$50 x 2	\$100	600	\$60,000
(\$15 x 2) + \$20 + \$50	\$100	600	\$60,000
\$100	\$100	600	\$60,000
\$100 x 5	\$500	60	\$30,000
\$500	\$500	60	\$30,000
\$500 x 2	\$1,000	3	\$3,000
\$1,000	\$1,000	3	\$3,000
\$25,000	\$25,000	5	\$125,000
Player Loyalty Program			\$25,000
Total:		192,131	\$2,406,000

- (j) The odds of winning a prize in this game are approximately one in 3.75. (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-8-9-24, July 10, 2024.)
- **111-4-3804.** "Deluxe Dollars" instant ticket lottery game number 413. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Deluxe Dollars." The rules for this game are contained in K.A.R. 111-3-1 *et seg.* and 111-4-3804.
- (b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	<b>Captions</b>		
1	ONE		
2	TWO		
3	THREE		

FOUR
SIX
SEVEN
EIGHT
NINE
ELEVN
TWELV
THRTN
FORTN
FIFTN
SIXTN
SEVTN
EGHTN
NINTN
TWONE
TWTWO
TWTHR
TWFOR
TWFIV
TWSIX
TWSEV
TWEGT
TWNIN
THRTY
THONE
THTWO
THTHR
THFOR
THFIV
THSIX
THSEV
THEGT
THNIN
FORTY

Prize Symbols	Captions
FREE	\$5TICKET
\$5.00	FIVE\$
\$10.00	TEN\$
\$20.00	TWENTY
\$50.00	FIFTY
\$100	HUNDRED
\$200	TWO-HUN
\$500	FIV-HUN
\$1,000	ONE-THO
\$25,000	TWNFVTHO

**FRONE** 

**FRTWO** 

**FRTHR** 

FRFOR WIN

WINALL

#### BONUS GAME:

41

42

43

44

Symbol of a moneybag Symbol of infinity

Play Symbols	Captions
Symbol of a bank	BANK

Symbol of an atm card	CARD
Symbol of a coin	COIN
Symbol of a cash register	REGISTER
Symbol of a stack of money	WIN

### BONUS GAME:

Prize Symbols	Captions
\$5.00	FIVE\$
$$10^{.00}$	TEN\$
\$20.00	TWENTY
$$50^{.00}$	FIFTY
\$100	HUNDRED
\$500	FIV-HUN

- (c) For this game, a play/prize symbol shall appear in 36 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 059.
- (e) The price of instant tickets sold by a retailer for this game shall be \$5.00 each.
- (f) "Deluxe Dollars" is a key number match game with an instant win and a bonus symbol match area. The player will scratch the play area to reveal four "WINNING NUMBERS" and 15 "YOUR NUMBERS" with a prize amount below each of the "YOUR NUMBERS." If a player matches any of the "YOUR NUMBERS" to any of the "WINNING NUMBERS," the player wins the prize shown below that number. If a player reveals a symbol of a moneybag, the player instantly wins the prize shown below that symbol. If a player reveals an infinity symbol, the player wins all 15 prize amounts in the "YOUR NUMBERS" play area. The player will scratch the bonus play area. If the player reveals a symbol of a stack of money, the player wins the prize amount shown in the bonus area.
  - (g) Each ticket in this game may win up to 16 times.
- (h) Approximately 750,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 150,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of instant prizes in this game shall be as follows:

	Winners Per		
	Prize	750,000	Prize Cost
\$5 FREE TICKET	\$5	62,500	\$312,500
\$5	\$5	37,500	\$187,500
\$5 (MONEYBAG)	\$5	25,000	\$125,000
\$5 (BONUS)	\$5	6,250	\$31,250
\$10	\$10	3,750	\$37,500
\$10 (MONEYBAG)	\$10	8,750	\$87,500
\$5 x 2	\$10	7,500	\$75,000
\$10 (BONUS)	\$10	8,750	\$87,500
\$20	\$20	1,250	\$25,000
\$20 (MONEYBAG)	\$20	2,500	\$50,000
(\$5 x 2) + \$10 (BONUS)	\$20	6,250	\$125,000
\$10 (BONUS) + \$10	\$20	2,500	\$50,000
\$20 (BONUS)	\$20	9,500	\$190,000
\$50	\$50	500	\$25,000
\$50 (MONEYBAG)	\$50	2,500	\$125,000
\$10 (BONUS) + (\$5 x 8)	\$50	2,000	\$100,000

\$10 x 5	\$50	750	\$37,500
\$50 (BONUS)	\$50	2,500	\$125,000
\$100	\$100	800	\$80,000
\$100 (MONEYBAG)	\$100	1,500	\$150,000
$(\$5 \times 10) + (\$10 \times 5)$	\$100	680	\$68,000
\$50 + \$20 (BONUS) + (\$5 x 6)	\$100	1,000	\$100,000
\$50 (BONUS) + (\$20 x 2) + \$10	\$100	340	\$34,000
\$20 x 5	\$100	380	\$38,000
(\$5 x 10) + (\$10 x 3) + \$20 (BONUS)	\$100	440	\$44,000
\$10 (BONUS) + (\$10 x 4) + \$50	\$100	385	\$38,500
\$100 (BONUS)	\$100	550	\$55,000
\$50 (BONUS) + (\$5 x 8) + \$10	\$100	450	\$45,000
\$50 (BONUS) + (\$5 x 6) + (\$10 x 2)	\$100	600	\$60,000
\$500	\$500	5	\$2,500
\$500 (MONEYBAG)	\$500	24	\$12,000
(\$50 x 4) + (\$20 x 10) +			
\$100 (INFINITY)	\$500	30	\$15,000
(\$50 x 4) + (\$20 x 10) +			
\$100 (BONUS)	\$500	10	\$5,000
\$50 + (\$100 x 3) + (\$20 x 2) + \$10 +			
\$100 (BONUS)	\$500	17	\$8,500
$(\$100 \times 3) + (\$5 \times 10) + (\$5$	<b>#</b> F00	4.5	<b>#</b> 7 F00
\$50 (BONUS) + (\$50 x 2)	\$500	15	\$7,500
\$500 (BONUS)	\$500	25	\$12,500
\$100 + \$200 + (\$20 x 5) +	\$500	20	\$10,000
\$100 (BONUS) \$1,000		20	\$2,000
	\$1,000	2	
\$1,000 (MONEYBAG)	\$1,000	2	\$2,000
\$500 + \$200 + (\$100 x 2) + (\$5 x 10) + \$50 (INFINITY)	\$1,000	6	\$6,000
$(\$50 \times 10) + \$50 (11111111)$ $(\$50 \times 11) + (\$100 \times 4) +$	Ψ1,000	U	φ0,000
\$50 (BONUS)	\$1,000	4	\$4,000
\$500 + \$200 + (\$100 x 2) +	4-/	_	4-,000
(\$5 x 10) + \$50 (BONUS)	\$1,000	5	\$5,000
\$500 x 2	\$1,000	12	\$12,000
\$25,000	\$25,000	5	\$125,000
PLAYER LOYALTY PROGRAM	,		\$27,800
TOTAL PRIZES		197,557	\$2,765,550
-		. ,	, ,,

- (j) The odds of winning a prize in this game are approximately one in 3.80. (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-8-9-24, July 10, 2024.)
- **111-4-3805.** "Topaz Treasure" instant ticket lottery game number 414. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Topaz Treasure." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3805.
- (b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
1	ONE
2	TWO
3	THREE
4	FOUR
6	SIX
7	SEVEN
8	EIGHT
9	NINE
11	ELEVN
12	TWELV
13	THRTN
	(contin

14	FORTN	72	SVTWO
15	FIFTN	73	SVTHR
16	SIXTN	74	SVFOR
17	SEVTN	75	SVFIV
18	EGHTN	76	SVSIX
19	NINTN	Symbol of a moneybag	WIN
21	TWONE	0,	
22	TWTWO	Prize Symbols	Captions
23	TWTHR		<del>-</del>
24	TWFOR	\$5.00	FIVE\$
25	TWFIV	\$10.00	TEN\$
26	TWSIX	\$20.00	TWENTY
27	TWSEV	\$30.00	THIRTY
28	TWEGT	\$50.00	FIFTY
29	TWNIN	\$100	HUNDRED
31	THONE	\$200	TWO-HUN
32	THTWO	\$300	THR-HUN
33	THTHR	\$500	FIV-HUN
34		\$1,000	ONE-THO
35	THFOR	\$2,000	TWO-THOU
	THFIV	\$10,000	TEN-THO
36	THSIX	\$250,000	250-THO
37	THSEV	BONUS GAME:	
38	THEGT		C .:
39	THNIN	Play Symbols	Captions
40	FORTY	Symbol of a bank	BANK
41	FRONE	Symbol of coins	COINS
42	FRTWO	Symbol of a diamond	DIAMOND
43	FRTHR	Symbol of an emerald	EMERALD
44	FRFOR	Symbol of a gold bar	GOLD BAR
45	FRFIV	Symbol of a key	KEY
46	FRSIX	Symbol of a ruby	RUBY STAR
47	FRSEV	Symbol of a star	TOPZ
48	FREGT	Symbol of a topaz Symbol of a treasure chest	TREASURE
49	FRNIN	Symbol of a necklace	NECKLACE
51	FTYON	Symbol of a pearl	PEARL
52	FTYTW	Symbol of a \$50 burst	WIN\$50
53	FTYTH	Symbol of a \$30 burst	WIN\$100
54	FTYFR	Symbol of a \$200 burst	WIN\$200
55	FTYFV	Symbol of a \$300 burst	WIN\$300
56	FTYSX	Symbol of a \$500 burst	WIN\$500 WIN\$500
57	FTYSV	•	
58	FTYET	(c) For this game, a play/priz	
59	FTYNI	65 play spots within the play ar	
60	SIXTY	(d) The ticket numbers in ea	
61	SXONE	game shall start with 000 and en	
62	SXTWO	(e) The price of instant tickets game shall be \$30.00 each.	sold by a retailer for this
63	SXTHR	(f) "Topaz Treasure" is a k	ev number match game
64	SXFOR	with instant wins and five bo	
65	SXFIV	The player will scratch the play	area to reveal 10 "WIN-
66	SXSIX	NING NUMBERS" and 25 "YO	
67	SXSEV	prize amount below each of the	
68	SXEGT	player matches any of the "YO	UR NUMBERS" to any of
69	SXNIN	the "WINNING NUMBERS," t	
70	SEVNTY	shown below that number. If a	player reveals a symbol
71	SVONE	of a moneybag, the player will se	
		that symbol. The player will so	raten the rive bonus play

areas; if the player reveals a symbol of a \$50 burst, \$100 burst, \$200 burst, \$300 burst or \$500 burst, the player instantly wins the amount of that symbol.

- (g) Each ticket in this game may win up to 30 times.
- (h) Approximately 300,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 150,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of instant prizes in this game shall be as follows:

Winners Per

	D!.	winners Per	D.: C1
	Prize	300,000	Prize Cost
\$30	\$30	6,000	\$180,000
\$10 x 3	\$30	4,350	\$130,500
$(\$5 \times 2) + (\$10 \times 2)$	\$30	4,500	\$135,000
\$20 + \$10	\$30	7,200	\$216,000
\$50	\$50	9,000	\$450,000
\$50 (BONUS)	\$50	42,000	\$2,100,000
\$10 x 5	\$50	6,000	\$300,000
$(\$20 \times 2) + \$10$	\$50	7,500	\$375,000
\$100	\$100	300	\$30,000
\$100 (BONUS)	\$100	600	\$60,000
\$20 x 5	\$100	400	\$40,000
\$30 + \$20 + \$50 (BONUS)	\$100	220	\$22,000
(\$10 x 5) + \$50 (BONUS)	\$100	360	\$36,000
(\$5 x 10) + \$50 (BONUS)	\$100	588	\$58,800
\$200	\$200	180	\$36,000
\$200 (BONUS)	\$200	600	\$120,000
(\$10 x 5) + (\$5 x 10) + \$100 (BONUS)	\$200	200	\$40,000
\$100 (BONUS) + (\$20 x 2) + \$10 +			
\$50 (BONUS)	\$200	550	\$110,000
\$50 (BONUS) + \$30 + \$20 +			
\$100 (BONUS)	\$200	220	\$44,000
(\$5 x 20) + \$50 (BONUS) +	<b>#200</b>	202	d=< 400
$(\$20 \times 2) + \$10$	\$200	282	\$56,400
\$100 (BONUS) + (\$10 x 10)	\$200	340	\$68,000
(\$10 x 5) + \$50 (BONUS) +	\$200	400	¢00,000
\$100 (BONUS) \$300		400	\$80,000
·	\$300 \$300	180	\$54,000 \$60,000
\$100 x 3		200	\$60,000
\$300 (BONUS)	\$300	260	\$78,000
\$200 (BONUS) + (\$10 x 5) + \$50 (BONUS)	\$300	440	\$132,000
(\$100 x 2) + \$100 (BONUS)	\$300	600	\$180,000
\$500	\$500	20	\$10,000
\$500 (BONUS)	\$500	80	\$40,000
\$100 x 5	\$500	60	\$30,000
\$200 (BONUS) + (\$10 x 5) +	φ300	00	φ30,000
(\$100 x 2) + \$50 (BONUS)	\$500	170	\$85,000
$(\$20 \times 5) + (\$10 \times 10) +$	φοσσ	170	φου <b>,</b> σοσ
\$100 (BONUS) + \$200 (BONUS)	\$500	200	\$100,000
(\$5 x 24) + \$50 (BONUS) +			. ,
\$100 (BONUS) + \$200 (BONUS) +			
\$30	\$500	180	\$90,000
\$1,000	\$1,000	2	\$2,000
\$100 (BONUS) + (\$200 x 4) +			
\$50 (BONUS) + \$20 + \$30	\$1,000	2	\$2,000
\$300 (BONUS) + (\$100 x 2) +			
\$500 (BONUS)	\$1,000	2	\$2,000
\$200 (BONUS) + (\$100 x 6) +			
$(\$30 \times 2) + (\$20 \times 2) + \$100$	¢1 000	4	¢4 000
(BONUS) (\$20 x 17) + (\$50 x 2) + (\$100 x 4) +	\$1,000	4	\$4,000
\$10 + \$50 (BONUS) +			
\$100 (BONUS)	\$1,000	20	\$20,000
. (/	, ,		, -,

\$10,000 \$500 (BONUS) + \$100 (BONUS) +	\$10,000	2	\$20,000
(\$200 x 15) + \$200 (BONUS) + \$20 + \$30 + (\$2,000 x 2) + (\$500 x 3) + \$50			
(BONUS) + (\$100 x 3) +			
\$300 (BONUS)	\$10,000	4	\$40,000
\$500 (BONUS) + \$100 (BONUS) +			
(\$200 x 17) + \$200 (BONUS) +			
(\$2,000 x 2) + \$1,000 +			
\$50 (BONUS) + (\$100 x 4) +			
\$300 (BONUS) + \$50	\$10,000	4	\$40,000
\$250,000	\$250,000	4	\$1,000,000
PLAYER LOYALTY PROGRAM			\$67,700
TOTAL PRIZES		94,224	\$6,744,400

(j) The odds of winning a prize in this game are approximately one in 3.18. (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-8-9-24, July 10, 2024.)

**111-4-3806.** "Triple 777" instant ticket lottery game number 415. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Triple 777." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3806.

(b) The "play and prize symbols" and "caption" for this game are as follows:

#### Play Symbols

Red game symbols:

Symbol of a bow
Symbol of cherries
Symbol of a poker chip
Symbol of a heart
Symbol of the letter Q
Symbol of a book
Symbol of a strawberry
Symbol of a slice of watermelon

Green game symbols:

Symbol of an apple Symbol of flat dollar bills Symbol of a four-leaf clover Symbol of a key Symbol of the number 9 Symbol of rolled dollar bills Symbol of a card spade Symbol of a stack of money

Yellow game symbols:

Symbol of bananas
Symbol of a stack of coins
Symbol of a flower
Symbol of a lemon
Symbol of a lightning bolt
Symbol of a pear
Symbol of the sun
Symbol of a star

Blue game symbols:

Symbol of a slot machine bar Symbol of blueberries Symbol of a card club Symbol of a treasure chest

Symbol of a die Symbol of a hat Symbol of a hexagon Symbol of the number 10

#### Purple game symbols:

Symbol of a stack of poker chips
Symbol of a four-way stretched
square
Symbol of a dollar sign
Symbol of grapes
Symbol of a hat
Symbol of the letter J
Symbol of a plum
Symbol of a locked file

#### Gold game symbols:

Symbol of the letter A
Symbol of a bell
Symbol of a crown
Symbol of a lock
Symbol of a horseshoe
Symbol of playing cards
Symbol of a money bag
Symbol of a trophy
All game symbol:
Symbol of a 7

Prize Symbols				
\$5				
\$10				
\$20				
\$30				
\$50				
\$100				
\$200				
\$300				
\$500				
\$10,000				
\$150,000				

Bonus game symbols:

Symbol of a four-way stretched square
Symbol of a coin
Symbol of cherries
Symbol of a spade
Symbol of a half of watermelon
Symbol of a pineapple
Symbol of an acorn
Symbol of a pair of dice
Symbol of the word WIN

# Bonus Prize Symbols \$30 \$50

\$100 \$200 \$300 \$500

- (c) For this game, a play/prize symbol shall appear in 122 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 014.
- (e) The price of instant tickets sold by a retailer for this game shall be \$20.00 each.
- (f) "Triple 777" is a symbol match game with an instant win, a multiplier, and a bonus area. The player will scratch the 30 "GAMES" to reveal three play symbols and a prize symbol for each "GAME." Each "GAME" plays separately. If the player reveals three matching symbols in the same "GAME," the player wins the prize shown for that "GAME." If the player reveals three symbols of a 7 in the same "GAME," the player wins triple the prize shown for that "GAME." The player will scratch the bonus area. If the player reveals a symbol of the word WIN, the player wins the prize shown in the bonus area.
  - (g) Each ticket in this game may win up to 31 times.
- (h) Approximately 300,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 150,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of instant prizes in this game shall be as follows:

	Prize	Winners Per 300,000	Prize Cost
\$30	\$30	12,000	\$360,000
\$30 (BONUS)	\$30	20,000	\$600,000
\$10 x 3	\$30	6,000	\$180,000
\$10 (TRIPLE 7's)	\$30	6,000	\$180,000
$(\$5 \times 2) + (\$10 \times 2)$	\$30	12,000	\$360,000
\$20 + \$10	\$30	12,000	\$360,000
\$50	\$50	4,000	\$200,000
\$50 (BONUS)	\$50	1,000	\$50,000
\$10 (TRIPLE 7's) + (\$5 x 4)	\$50	2,000	\$100,000
\$10 (TRIPLE 7's) + \$20	\$50	2,000	\$100,000
\$10 x 5	\$50	5,000	\$250,000
(\$20 x 2) + \$10	\$50	1,000	\$50,000
\$100	\$100	200	\$20,000
\$100 (BONUS)	\$100	430	\$43,000
\$20 x 5	\$100	600	\$60,000
\$30 (TRIPLE 7's) + \$10	\$100	830	\$83,000
\$30 + \$20 + \$50 (BONUS)	\$100	1,000	\$100,000
\$30 (TRIPLE 7's) + (\$5 x 2)	\$100	530	\$53,000
(\$5 x 10) + \$50 (BONUS)	\$100	650	\$65,000
\$200	\$200	100	\$20,000
\$200 (BONUS)	\$200	100	\$20,000
\$50 (TRIPLE 7's) + (\$20 x 2) + \$10	\$200	102	\$20,400
(\$10 x 5) + (\$5 x 10) + \$100 (BONUS)	\$200	200	\$40,000
\$100 (BONUS) + (\$20 x 2) + \$10 +			
\$50	\$200	200	\$40,000
\$50 (TRIPLE 7's) + \$50 (BONUS)	\$200	200	\$40,000
(\$5 x 30) + \$50 (BONUS)	\$200	400	\$80,000
\$100 (BONUS) + (\$10 x 10)	\$200	220	\$44,000
(\$10 x 5) + \$50 (BONUS) + \$100	\$200	180	\$36,000
\$300	\$300	20	\$6,000
\$100 x 3	\$300	20	\$6,000
\$100 (TRIPLE 7's)	\$300	22	\$6,600

\$300 (BONUS)	\$300	120	\$36,000	34	THRFOR
\$200 (BONUS) + (\$10 x 5) + \$50	\$300	120	\$36,000	35	THRFIV
\$50 (TRIPLE 7's) +				36	THRSIX
\$100 (BONUS) + (\$20 x 2) + \$10	\$300	120	\$36,000		
\$500	\$500	20	\$10,000	37	THRSEV
\$500 (BONUS)	\$500	40	\$20,000	38	THREGT
\$100 x 5	\$500	20	\$10,000	39	THRNIN
\$100 (TRIPLE 7's) + \$200 (BONUS	\$500	22	\$11,000	40	FORTY
\$200 + (\$10 x 5) + (\$100 x 2) +				41	FRYONE
\$50 (BONUS)	\$500	36	\$18,000	42	FRYTWO
$(\$20 \times 7) + (\$10 \times 11) +$			***	43	FRYTHR
\$100 (BONUS) + \$50 (TRIPLE 7's)	\$500	30	\$15,000	_	
(\$5 x 10) + (\$10 x 15) +				44	FRYFOR
\$50 (BONUS) + (\$50 x 5)	\$500	20	\$10,000	45	FRYFIV
\$10,000	\$10,000	2	\$20,000	46	FRYSIX
(\$500 x 18) + \$500 (BONUS) +	440.000	•	420.000	47	FRYSEV
$(\$30 \times 10) + (\$100 \times 2)$	\$10,000	2	\$20,000	<del></del>	
\$150,000	\$150,000	2	\$300,000	Symbol of a ring	WIN
\$10,000 x 15	\$150,000	2	\$300,000	2X	2TIMES
PLAYER LOYALTY PROGRAM			\$44,668	5X	5TIMES
TOTAL PRIZES		89,560	\$4,459,668	10X	10TIMES

- (j) The odds of winning a prize in this game are approximately one in 3.35. (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-8-9-24, July 10, 2024.)
- **111-4-3807.** "Rose Gold" instant ticket lottery game number 423. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Rose Gold." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3807.
- (b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
03	THR
04	FOR
06	SIX
07	SEV
08	EGT
09	NIN
11	ELVN
12	TWLV
13	THRN
14	FRTN
16	SIXTN
17	SEVTN
18	EGTN
19	NINTN
21	TWYONE
22	TWYTWO
23	TWYTHR
24	TWYFOR
26	TWYSIX
27	TWYSEV
28	TWYEGT
29	TWYNIN
30	THRTY
31	THRONE
32	THRTWO
33	THRTHR

Prize Symbols	Captions
FREE	TICKET
\$5.00	FIVE\$
$10^{.00}$	TEN\$
$15^{.00}$	FIFTEEN
$20^{.00}$	TWENTY
25.00	TWEN-FIV
$50^{.00}$	FIFTY
75.00	SVTYFIV
\$100	ONE-HUN
\$500	FIVE-HUN
\$1000	ONETHOU
\$75000	75-THOU

BONUS	Play Symbols	Captions
	Symbol of a necklace	NKLACE
	Symbol of a bell	BELL
	Symbol of a pot of gold	POTGLD
	Symbol of a clover	CLOVER
	Symbol of a horseshoe	HRSHOE
	Symbol of an apple	APPLE
	Symbol of a crown	CROWN
	Symbol of a flower	FLOWER
	Symbol of a lemon	LEMON
	Symbol of \$10	WIN\$10
	Symbol of \$20	WIN\$20
	Symbol of \$50	WIN\$50

- (c) For this game, a play/prize symbol shall appear in 69 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 029.
- (e) The price of instant tickets sold by a retailer for this game shall be \$10.00 each.
- (f) "Rose Gold" is a key number match game with an instant win, multiplier features and three bonus symbol match areas. The player will scratch the play area to reveal six "WINNING NUMBERS" and 30 "YOUR NUM-(continued)

BERS" with a prize amount below each of the "YOUR NUMBERS." If a player matches any of the "YOUR NUMBERS" to any of the "WINNING NUMBERS," the player wins the prize shown below that number. If a player reveals a symbol of a ring, the player instantly wins the prize amount shown below that symbol. If a player reveals a symbol of a 2X, the player wins double the prize amount shown below that symbol. If a player reveals a symbol of a 5X, the player wins five times the prize amount shown below that symbol. If a player reveals a symbol of a 10X, the player wins 10 times the prize amount shown below that symbol. The player will scratch the three bonus play areas; if the player reveals a symbol of a \$10, \$20 or \$50, the player wins that amount.

(h) Approximately 450,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 150,000 tickets, and the same odds as were contained in the initial ticket order.

(g) Each ticket in this game may win up to 33 times.

(i) The expected number and value of instant prizes in this game shall be as follows:

Winner one Don Drive

	Domeso	Bonus	Domes	Prize	Winners Per	Prize
ALON THE I	Donus	Donus	bonus		450,000	Cost
\$10 Free Ticket				\$10	39,000	\$390,000
\$10	<b>#</b> 40			\$10	12,000	\$120,000
ΦΕ (OV)	\$10			\$10	12,000	\$120,000
\$5 (2X)				\$10	13,500	\$135,000
\$15				\$15	10,500	\$157,500
\$5 (2X) + \$5				\$15	12,000	\$180,000
\$20		<b>#20</b>		\$20	3,900	\$78,000
#10 ( <b>23</b> 0)		\$20		\$20	4,200	\$84,000
\$10 (2X)				\$20	4,500	\$90,000
\$10 x 2				\$20	3,900	\$78,000
\$25				\$25	3,600	\$90,000
\$10 (2X) + \$5				\$25	4,800	\$120,000
\$5 (5X)				\$25	4,800	\$120,000
\$50		#10		\$50	900	\$45,000
\$20 (2X)		\$10		\$50	1,200	\$60,000
\$10 x 3	\$20		Φ=0	\$50	900	\$45,000
440 (FN)			\$50	\$50	1,050	\$52,500
\$10 (5X)				\$50	1,200	\$60,000
\$5 (10X)	***			\$50	1,200	\$60,000
\$10	\$10	\$10	\$20	\$50	1,050	\$52,500
\$75				\$75	450	\$33,750
\$25		\$50		\$75	420	\$31,500
\$5 (10X) + \$15			\$10	\$75	630	\$47,250
(\$10 x 3) + \$5 (5X)		\$20		\$75	630	\$47,250
\$10 + \$15	\$50			\$75	540	\$40,500
(\$10 x 3) + \$15	\$20	\$10		\$75	540	\$40,500
\$100				\$100	300	\$30,000
\$10 (10X)				\$100	540	\$54,000
\$5 (10X)	\$20	\$20	\$10	\$100	540	\$54,000
\$20	\$50	\$20	\$10	\$100	390	\$39,000
\$10 x 4	\$10		\$50	\$100	390	\$39,000
\$500				\$500	45	\$22,500
(\$10 x 20) + (\$15 x 6) + \$10 (10X) + (\$10 x 3)	\$50	\$20	\$10	\$500	75	\$37,500
\$50 (5X) + (\$10 x 11) + (\$15 x 4)	\$20	\$10	\$50	\$500	60	\$30,000
(\$100 x 2) + (\$20 x 9) + (\$25 x 4)		\$20		\$500	60	\$30,000
\$25 x 20				\$500	75	\$37,500
\$1,000				\$1,000	15	\$15,000
(\$75 x 3) + \$500 +						
(\$25 x 5) + (\$20 x 4)		\$50	\$20	\$1,000	18	\$18,000
\$500 x 2				\$1,000	15	\$15,000

\$100 (10X)	\$1,000	18	\$18,000
\$75,000	\$75,000	4	\$300,000
Players Loyalty Program			\$25,200
	TOTAL	141,955	\$3,142,950

(j) The odds of winning a prize in this game are approximately one in 3.17. (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-8-9-24, July 10, 2024.)

# Article 19. — SPECIFIC PLAYER LOYALTY CLUB RULES

- **111-19-184.** Winter Cash Bonus Drawings. (a) The Kansas Lottery may conduct promotional drawings for each of the five instant ticket games listed in subsection (b) entitled "Winter Cash Bonus Drawings" awarding cash prizes to players selected as winners. Entries into each drawing will be accepted beginning at 12:01 a.m. on the day the instant ticket associated with the drawing is first offered for sale to the general public and ending at 11:59 p.m. on February 2, 2025. The drawings will be conducted sometime after entry into the drawings has closed but before noon on February 6, 2025, at which time the winners will be announced.
- (b) The specific tickets eligible for entry into these drawings shall be the following Kansas Lottery instant ticket games: \$1 "Holiday Surprize" game number 428; \$2 "Happy Holly Days" game number 429; \$5 "Full of \$500s" game number 430; \$10 "Peppermint Payout Multiplier" game number 431; and \$20 "Gifts of Gold" game number 432.
- (c) A player shall enter the drawings through the Kansas Lottery PlayOn program available at <a href="www.kslottery.com">www.kslottery.com</a>. The player shall follow the hyperlink specifically designated for the purpose of accessing the "Winter Cash Bonus Drawings" promotion. The player may enter the required data from the entry ticket manually for entry into the drawings. If the player does not enter the ticket data manually, the player may scan, if available, the ticket to enter data to be used for entry into the drawings using a mobile device and a downloaded Kansas Lottery Play-On app. After the ticket data is successfully entered either manually or scanned using the app, the player will receive one entry into the drawings based on the specific ticket.
- (d) The procedures set forth in K.A.R. 111-18-5 for selecting winners and alternate winners shall be followed. The first entrant selected in each drawing shall be the winner of a cash prize.
- (1) The first drawing conducted shall be from among the entrants in the \$1 Holiday Surprize, game number 428, drawing. The cash prize awarded to the first entrant selected in the first drawing shall be \$1,000.
- (2) The second drawing conducted shall be from among the entrants in the \$2 Happy Holly Days, game number 429, drawing. The cash prize awarded to the first entrant selected in the second drawing shall be \$5,000.
- (3) The third drawing conducted shall be from among the entrants in the \$5 Full of \$500s, game number 430, drawing. The cash prize awarded to the first entrant selected in the third drawing shall be \$10,000.
- (4) The fourth drawing conducted shall be from among the entrants in the \$10 Peppermint Payout Multiplier,

- game number 431, drawing. The cash prize awarded to the first entrant selected in the fourth drawing shall be \$15,000.
- (5) The fifth drawing conducted shall be from among the entrants in the \$20 Gifts of Gold, game number 432, drawing. The cash prize awarded to the first entrant selected in the fifth drawing shall be \$20,000.
- (e) There is no limit on the number of tickets a player may enter. A player may win more than one drawing.
- (f) The procedures set forth in K.A.R. 111-18-5 for contacting a winner and the claiming of the prize shall be followed. The Kansas Lottery is not responsible for electronic malfunction or player error.
- (g) By entering the promotion, entrant agrees to Play-On terms and conditions.
- (h) Winners are responsible for any state and federal taxes.
- (i) Rules applicable to this promotion are contained in K.A.R. 111-19-184 and K.A.R. 111-18-1 *et seq.* (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-8-9-24, July 10, 2024.)

#### Article 22. — GENERIC eINSTANTS RULES

- **111-22-1. Definitions.** (a) "Account" means a player's account in the Kansas lottery's player loyalty program defined in K.A.R. 111-18-1 *et seq.* and any credentials, email, login information, or password associated with that account.
- (b) "Click" means to manually interact with an interactable graphical element through the use of a mouse, touchscreen, or other input device.
- (c) "eInstant game" means an online instant lottery game in which a ticket is purchased by a player from the Kansas lottery and the player can determine if they win a prize by clicking on each part of the play area or a "reveal all" icon and comparing the revealed play symbols with those specified as winners in the published game rules for that online instant lottery game.
- (d) "Executive director" means the executive director of the Kansas lottery, or the person designated by the executive director.
- (e) "Expiration date" means the last date an eInstant game ticket may be validated and eligible to win a prize.
- (f) "Lottery security" means the Kansas lottery security officer or a certified enforcement officer designated by the executive director or the person designated by the executive director.
- (g) "Multi-ticket" means an eInstant lottery game in which more than one ticket of the same denomination may be purchased per game.
- (h) "Play area" is the portion of the eInstant game where the play or game symbols appear.
- (i) "Play symbols" are the numbers, letters, symbols, or pictures displayed in the play area of each elnstant game and which determine if the ticket purchaser is entitled to a prize according to the published game rules for that elnstant game.
- (j) "Pool" or "prize pool" means a certain number of eInstant game tickets, such number determined by the published rules for that eInstant game, used to seed prizes randomly across the game to determine winning and

- non-winning tickets. The size of each pool shall be determined by the published rules for that eInstant game.
- (k) "Serial number" means a unique number appearing on the front of each eInstant game which is used to identify and track the player's purchase and which may be used to validate winning tickets.
- (l) "Wallet" means an online service which tracks a player's deposits, purchases, and prize payments. A player may make deposits, purchases, and withdrawals from the wallet according to the terms and conditions of the player loyalty program defined in K.A.R. 111-18-1 *et seq.* (Authorized by and implementing K.S.A. 2023 Supp. 74-8710; effective, T-111-8-9-24, July 10, 2024.)
- **111-22-2.** Manner of selection of winners. Winners of an eInstant game are determined by the matching or specified alignment of the play symbols on a valid eInstant game ticket in accordance with the published rules for each eInstant game. (Authorized by and implementing K.S.A. 2023 Supp. 74-8710; effective, T-111-8-9-24, July 10, 2024.)
- **111-22-3.** Deadline for claiming prizes. (a) A winning eInstant game ticket with a prize of \$599 or less shall automatically be paid to a player's wallet. A winning eInstant game ticket with a prize in excess of \$599 shall not be paid until a player completes a claim form provided by the lottery as described in K.A.R. 111-22-8.
- (b) All eInstant game tickets shall expire 180 days after purchase unless otherwise provided by the executive director. If a winner does not submit a claim form before a winning eInstant game ticket's expiration date, the ticket shall be invalid and ineligible for any prize.
- (c) For the purposes of this regulation, all tickets purchased concurrently within a multi-ticket eInstant game shall be considered a single eInstant game ticket. (Authorized by and implementing K.S.A. 2023 Supp. 74-8710; effective, T-111-8-9-24, July 10, 2024.)
- **111-22-4. Disclosure of winners.** The city of residence of the winner of any claimed prize may be used in any lottery promotional campaign. (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-8-9-24, July 10, 2024.)
- **111-22-5.** Ticket sales. (a) The sales price of any eInstant game ticket shall be \$1.00 unless a different price is established by game rules adopted by the Kansas lottery commission for a specific eInstant game.
  - (b) eInstant game tickets shall be sold only by the lottery.
- (c) eInstant game tickets shall not be sold to any person under the age of 18. The seller of any eInstant game ticket may require the purchaser to prove their age. (Authorized by K.S.A. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8718; effective, T-111-8-9-24, July 10, 2024.)
- **111-22-6. Determination of prize winners.** (a) Each elnstant game ticket shall be drawn from a pool at the time of purchase.
- (b) If the play symbols meet the requirements of the rules of the game, the player wins the prize designated by the rules of the game.

- (c) Only play symbols and captions, if any, and serial numbers are used for determination of entitlement to prizes. Other numbers, symbols, icons, and the like, or any other portion of the game shall not be usable or playable to win prizes.
- (d) In all events, the determination of eInstant prize winners shall be subject to the general ticket validation requirements set forth in K.A.R. 111-22-7 and the requirements set forth in the rules of each eInstant game.
  - (e) No particular prize may be paid more than once.
- (f) All prizes must be claimed on or before an eInstant game ticket's expiration date. Any prize not claimed by the expiration date shall be forfeited.
- (g) The right of any person to a prize shall not be assignable, except that payment of any prize may be paid to the estate of a deceased prize winner or to a person designated pursuant to an appropriate judicial order. (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-8-9-24, July 10, 2024.)
- **111-22-7.** Ticket validation requirements. (a) Each elnstant game ticket shall be validated prior to payment of a prize.
- (b) In addition to meeting all other requirements in these rules and the specific rules for each eInstant game, the following validation requirements shall apply to all eInstant game tickets:
- (1) The ticket must have been issued by the Kansas lottery in an authorized manner and must not be counterfeit in whole or in part.
- (2) The ticket must not be altered or tampered with in any manner.
- (3) The ticket must be identified and accepted by the Kansas lottery's ticket validation system as a valid winning ticket.
- (4) The serial number of an apparent winning ticket shall appear in the Kansas lottery's official computer database of ticket validation numbers of winning tickets and a ticket with that ticket validation number shall not have been paid previously.
- (5) The ticket must pass all additional confidential validation tests of the Kansas lottery.
- (c) Any ticket not passing all of the validation checks stated in this section is void and ineligible for any prize. In the event that a defective ticket is purchased, the only responsibility or liability of the Kansas lottery shall be for reimbursement of the cost of the defective ticket.
- (d) Subject to certain conditions, prize payment may be made for an eInstant game ticket that is not claimed by applicable deadlines. The following conditions may constitute exceptions to the validation requirements previously identified in paragraphs (a), (b) and (c):
- (1) Consideration will only be given to claimants following an attempt to claim a prize prior to the ticket's expiration.
- (2) A record of the attempt must be contained within the Kansas lottery's website or mobile application identifying the date and time of the validation attempt, the serial number of the ticket, and the prize amount.
- (3) The claimant must complete the claim process within 5 days of the expiration date, be authorized to purchase an elnstant lottery game ticket, be eligible to

- claim the prize, and be the rightful recipient of the prize claimed as determined by the lottery.
- (4) Lottery security will conduct an investigation to determine if the claim is or is not supported by the investigation and will submit a report with a recommendation to that effect to the executive director of the lottery.
- (5) The final decision on whether a prize will be paid shall be made by the executive director. (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-8-9-24, July 10, 2024.)
- **111-22-8. Payment of prizes.** The procedures for payment of monetary prizes to the winners of each eInstant game are as follows:
- (a) The executive director or his designee shall award the designated prize to the person entitled to a prize pursuant to K.A.R. 111-22-6 as soon as it is determined that all laws, regulations, and rules have been adhered to.
- (b) eInstant lottery game prizes of \$599.00 or less shall be automatically paid to the winner's wallet.
- (c) eInstant lottery game prizes in excess of \$599.00 shall be paid to the winner's wallet after the winner has completed a claim form provided by the Kansas lottery. The winner shall be required to provide additional information including a complete social security number, bank account and routing numbers, or other information reasonably required to verify the winner's identity and pay the prize if that information was not provided during account registration in the lottery's player loyalty program defined in K.A.R. 111-18-1 et seq.
- (d) All prizes are subject to deductions, withholding, and setoff provided by law. (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-8-9-24, July 10, 2024.)
- **111-22-9.** Responsibility for account security. (a) The Kansas lottery is not responsible for lost or stolen accounts. The Kansas lottery is not responsible for any deposited funds or claimed or unclaimed prizes in any lost or stolen account.
- (b) Players may be required to prove their identity to the satisfaction of the Kansas lottery prior to having their access to a lost or stolen account restored. (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-8-9-24, July 10, 2024.)
- **111-22-10. Disputes.** In the event of a dispute between a ticket purchaser and the Kansas lottery concerning any eInstant game, the executive director shall determine the facts underlying the dispute and pay a prize to the purchaser of a valid winning ticket. If the investigation of the dispute is inconclusive, the executive director may, solely at his or her option, reimburse the ticket purchaser for the cost of the disputed ticket. If the investigation of the dispute determines facts in favor of the Kansas lottery, the executive director shall deny any claim relating to the dispute. (Authorized by and implementing K.S.A. 2023 Supp. 74-8710; effective, T-111-8-9-24, July 10, 2024.)
- **111-22-11. Termination of the game.** At any time, the executive director may announce a termination date for an eInstant game, or announce a last date for sale of

tickets in a game. The executive director may make any such announcement for any reason permitted by the Kansas lottery act, including but not limited to: protecting the integrity of the game subject to the announcement; compliance with any other law, rule and regulation, or other legal obligation; and the orderly operation of the lottery. (Authorized by and implementing K.S.A. 2023 Supp. 74-8710; effective, T-111-8-9-24, July 10, 2024.)

- **111-22-12.** Payment of prizes to persons under 18 years of age. (a) In the event a person entitled to a prize for any winning ticket by means of a gift or inheritance is under 18 years of age, the lottery may require:
- (1) The claim form for all prizes of \$25 or more to be signed by the parent or legal guardian of the minor; and,
- (2) Payment by delivery of a warrant, payable to the order of the minor, to a parent or legal guardian of the minor.
- (b) Where the prize exceeds \$5,000, payment shall be made for the benefit of the minor to the court appointed guardian or conservator, or as may otherwise be ordered by the court, upon receipt of written verification of the appointment of the legal guardian or conservator satisfactory to the executive director. (Authorized by and implementing K.S.A. 2023 Supp. 74-8710; effective, T-111-8-9-24, July 10, 2024.)
- **111-22-13.** Invalidation of tickets. No eInstant game ticket shall be valid after its expiration date. (Authorized by and implementing K.S.A. 2023 Supp. 74-8710; effective, T-111-8-9-24, July 10, 2024.)

#### Article 23.—SPECIFIC eINSTANTS RULES

- **111-23-1.** "Silver Fox Hunt" eInstant ticket lottery game. (a) The Kansas lottery may conduct an eInstant lottery game entitled "Silver Fox Hunt." The rules for this game are contained in K.A.R. 111-22-1 *et seq.* and 111-23-1.
  - (b) The "play symbols" for this game are as follows:

#### **Play Symbols**

Symbol of Documents
Symbol of Microfilm
Symbol of a Red Button
Symbol of a Sonar Scope
Symbol of a Recorder
Symbol of a Camera
Symbol of Binoculars
Symbol of a Watch
Symbol of a Bonus Envelope

Prize and bonus prize symbols shall be randomly assigned at the time of purchase and may appear in any combination that equals any prize described in paragraph (j).

(c) For this game, four play symbols and one prize symbol shall appear in each of the ticket play areas purchased by the player. There shall be six ticket areas. Each ticket area shall be dim or empty until the player purchases that ticket.

- (d) Each pool shall consist of 10,000,000 tickets.
- (e) The price of tickets for this game shall be \$1.00, \$2.00, and \$5.00.
- (f) "Silver Fox Hunt" is a multi-ticket symbol match game with a bonus play feature. The player may select between one and six tickets to play at the time of purchase. Each ticket shall be the same denomination. The player may purchase the selected number of tickets by pressing the "Play" icon. Each purchased ticket is presented in the form of a single line. The player may reveal the play and prize symbols by manually clicking on each play and prize symbol, or by clicking on the "Reveal All" icon. If the player matches three symbols on any ticket, the player wins the prize amount for that ticket. If the player matches four symbols on any ticket, the player wins the prize for each ticket they purchased in that game. If a player matches four "Bonus Envelope" symbols, the player will play a bonus game. In the bonus game, the player has three Agent Silver Fox characters. The player will click on each character, which will progress across the bonus play area. Each character may land on a prize amount or be impeded by a shadow and not land on a prize. The player will win the total cumulative amount attained by all of the characters in the bonus game. Each bonus game will have at least one character land on a prize.
- (g) The total number of prizes and bonus prizes in any winning game may be variable but shall equal any prize described in paragraph (j).
- (h) Approximately 30,000,000 tickets shall be ordered initially for this eInstant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 10,000,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) Each prize shall be calculated by multiplying the prize multiplier by the ticket cost:

# Prize Multiplier

15,000
4,000
2,000
1,000
500
200
100
50
30
20
15
10
5
4
2
1

(j) The odds of winning in any game shall depend on the number of tickets purchased, as follows:

	Ticket Cost				Number of Tick	cets Purchased		
\$1.00	\$2.00	\$5.00	1	2	3	4	5	6
	Prize Amount		Odds to Win 1 in:	Odds to Win 1 in:	Odds to Win 1 in:	Odds to Win 1 in:	Odds to Win 1 in:	Odds to Win 1 in:
\$15,000.00	\$30,000.00	\$75,000.00	3,333,333.33	3,333,333.33	3,333,333.33	3,333,333.33	3,333,333.33	3,333,333.33
\$5,000.00	\$10,000.00	\$25,000.00	2,500,000.00	1,428,571.43	1,666,666.67	1,428,571.43	1,428,571.43	833,333.33
\$4,500.00	\$9,000.00	\$22,500.00		1,111,111.11	2,500,000.00	2,000,000.00	2,000,000.00	2,000,000.00
\$4,000.00	\$8,000.00	\$20,000.00	769,230.77	400,000.00	384,615.38	312,500.00	434,782.61	200,000.00
\$3,500.00	\$7,000.00	\$17,500.00			10,000,000.00	5,000,000.00	5,000,000.00	2,500,000.00
\$3,000.00	\$6,000.00	\$15,000.00	555,555.56	357,142.86	285,714.29	238,095.24	400,000.00	149,253.73
\$2,000.00	\$4,000.00	\$10,000.00	181,818.18	66,666.67	62,893.08	44,444.44	18,903.59	29,069.77
\$1,800.00	\$3,600.00	\$9,000.00				10,000,000.00	3,333,333.33	2,500,000.00
\$1,600.00	\$3,200.00	\$8,000.00			10,000,000.00	5,000,000.00	5,000,000.00	3,333,333.33
\$1,500.00	\$3,000.00	\$7,500.00	263,157.89	222,222.22	158,730.16	117,647.06	3,333,333.33	79,365.08
\$1,200.00	\$2,400.00	\$6,000.00	44.040.04	416,666.67	3,333,333.33	2,000,000.00	2,000,000.00	2,000,000.00
\$1,000.00	\$2,000.00	\$5,000.00	46,948.36	29,498.53	26,246.72	16,722.41	8,019.25	10,905.13
\$950.00	\$1,900.00	\$4,750.00			10,000,000.00	10,000,000.00	5,000,000.00	2,500,000.00
\$900.00 \$850.00	\$1,800.00	\$4,500.00			10,000,000.00	5,000,000.00	2,500,000.00	2,000,000.00
\$800.00	\$1,700.00 \$1,600.00	\$4,250.00 \$4,000.00	76,335.88	32,679.74	32,679.74	10,000,000.00 44,642.86	3,333,333.33 18,416.21	2,000,000.00 30,674.85
\$600.00	\$1,800.00	\$3,000.00	84,033.61	29,761.90	57,142.86	39,525.69	6,024.10	29,069.77
\$550.00	\$1,200.00	\$2,750.00	04,033.01	151,515.15	10,000,000.00	5,000,000.00	2,500,000.00	2,000,000.00
\$500.00	\$1,000.00	\$2,730.00	19,960.08	6,906.08	4,000.00	3,416.47	10,638.30	2,285.19
\$450.00	\$900.00	\$2,250.00	19,900.00	0,200.08	10,000,000.00	5,000,000.00	2,500,000.00	2,000,000.00
\$400.00	\$800.00	\$2,000.00	14,880.95	5,151.98	4,975.12	4,122.01	2,429.54	2,751.79
\$300.00	\$600.00	\$1,500.00	8,912.66	3,486.75	2,727.77	2,431.91	1,524.39	1,614.99
\$290.00	\$580.00	\$1,450.00	0,712.00	5,100.70	2,7 27 .7 7	1,666,666.67	1,111,111.11	500,000.00
\$280.00	\$560.00	\$1,400.00			3,333,333.33	1,666,666.67	1,666,666.67	500,000.00
\$270.00	\$540.00	\$1,350.00			-,,	1,666,666.67	1,666,666.67	500,000.00
\$260.00	\$520.00	\$1,300.00			5,000,000.00	1,666,666.67	1,666,666.67	500,000.00
\$250.00	\$500.00	\$1,250.00	11,376.56	5,390.84	3,802.28	2,836.88	3,181.67	1,875.47
\$240.00	\$480.00	\$1,200.00			1,000,000.00	454,545.45	312,500.00	200,000.00
\$230.00	\$460.00	\$1,150.00		151,515.15	666,666.67	357,142.86	312,500.00	200,000.00
\$220.00	\$440.00	\$1,100.00		151,515.15	500,000.00	357,142.86	312,500.00	200,000.00
\$210.00	\$420.00	\$1,050.00			555,555.56	714,285.71	416,666.67	200,000.00
\$200.00	\$400.00	\$1,000.00	5,434.78	2,581.31	1,564.95	1,183.99	1,340.66	774.23
\$190.00	\$380.00	\$950.00				1,428,571.43	625,000.00	200,000.00
\$180.00	\$360.00	\$900.00				588,235.29	625,000.00	200,000.00
\$170.00	\$340.00	\$850.00				1,666,666.67	625,000.00	200,000.00
\$160.00	\$320.00	\$800.00	2 500 51	0.115.51	2,000,000.00	714,285.71	250,000.00	204,081.63
\$150.00	\$300.00	\$750.00	3,599.71	2,115.51	1,608.75	2,281.02	1,045.48	1,529.99
\$120.00	\$240.00	\$600.00 \$575.00	7,570.02	1,939.49	1,696.35	1,291.99	1,554.97	829.19
\$115.00 \$110.00	\$230.00 \$220.00	\$550.00	13,888.89	11,750.88	10,000,000.00 10,224.95	2,500,000.00 8,038.59	1,000,000.00 8,203.45	1,000,000.00 5,102.04
\$105.00	\$220.00 \$210.00	\$525.00	13,000.09	49,504.95	5,000,000.00	2,500,000.00	1,250,000.00	1,000,000.00
\$100.00	\$200.00	\$500.00	2,146.84	1,630.26	1,251.72	728.54	960.52	473.31
\$95.00	\$190.00	\$475.00	106,382.98	37,037.04	31,847.13	23,310.02	17,921.15	14,925.37
\$90.00	\$180.00	\$450.00	40,983.61	14,245.01	1,415.63	7,824.73	4,621.07	4,608.29
\$85.00	\$170.00	\$425.00	142,857.14	49,019.61	31,847.13	23,310.02	21,598.27	14,925.37
\$80.00	\$160.00	\$400.00	1,723.25	1,136.36	1,126.76	1,428.37	828.64	1,242.24
\$75.00	\$150.00	\$375.00	138,888.89	49,019.61	13,513.51	20,703.93	18,050.54	12,500.00
\$70.00	\$140.00	\$350.00	14,925.37	5,820.72	3,711.95	2,849.00	2,327.21	2,000.40
\$65.00	\$130.00	\$325.00	119,047.62	39,682.54	24,330.90	1,148.24	15,873.02	11,098.78
\$60.00	\$120.00	\$300.00	8,312.55	1,743.98	807.75	470.23	305.92	214.59
\$55.00	\$110.00	\$275.00	12,062.73	17,699.12	10,416.67	7,496.25	6,024.10	4,543.39
\$50.00	\$100.00	\$250.00	982.99	961.35	552.49	196.45	161.29	123.46
\$45.00	\$90.00	\$225.00	26,881.72	8,077.54	5,128.21	1,922.34	3,243.59	2,325.58
\$40.00	\$80.00	\$200.00	1,363.33	781.01	421.94	207.31	136.98	118.54
\$38.00	\$76.00	\$190.00	555,555.56	196,078.43	133,333.33	101,010.10	238,095.24	66,666.67
\$36.00	\$72.00	\$180.00	555,555.56	196,078.43	133,333.33	101,010.10	119,047.62	66,666.67
\$35.00	\$70.00	\$175.00	3,333.33	9,505.70	5,555.56	1,415.23	813.60	888.89
\$34.00	\$68.00	\$170.00	555,555.56	192,307.69	131,578.95	100,000.00	119,047.62	66,225.17
\$32.00	\$64.00	\$160.00	555,555.56	200,000.00	135,135.14	103,092.78	121,951.22	67,567.57
\$30.00	\$60.00	\$150.00	366.58	218.17	129.45	110.29	76.14	79.57

	<b>Ticket Cost</b>				Number of Tick	ets Purchased		
\$1.00	\$2.00	\$5.00	1	2	3	4	5	6
	Prize Amount		Odds to Win 1 in:	Odds to Win 1 in:	Odds to Win 1 in:	Odds to Win 1 in:	Odds to Win 1 in:	Odds to Win 1 in:
\$29.00					50,000.00	25,062.66	19,960.08	10,000.00
\$28.00	\$56.00	\$140.00	108,695.65	37,313.43	25,000.00	25,062.66	11,976.05	10,000.00
\$27.00					50,000.00	18,796.99	11,976.05	10,000.00
\$26.00	\$52.00	\$130.00	108,695.65	37,313.43	16,666.67	18,796.99	14,970.06	10,000.00
\$25.00	\$50.00	\$125.00	10,000.00	2,549.72	1,268.87	816.33	623.44	519.48
\$24.00	\$48.00	\$120.00	108,695.65	24,875.62	10,000.00	7,490.64	6,006.01	5,000.00
\$23.00					50,000.00	12,484.39	7,507.51	5,000.00
\$22.00	\$44.00	\$110.00	108,695.65	24,875.62	12,515.64	12,484.39	7,507.51	5,000.00
\$21.00	\$42.00	\$105.00		74,626.87	16,666.67	9,363.30	7,507.51	5,000.00
\$20.00	\$40.00	\$100.00	354.60	245.09	142.76	239.81	312.50	249.99
\$19.00	\$38.00	\$95.00		5,000.00	1,111.11	625.00	500.00	333.33
\$18.00	\$36.00	\$90.00	7,485.03	2,500.00	622.74	500.00	400.00	277.78
\$17.00	\$34.00	\$85.00		5,000.00	1,111.11	625.00	500.00	333.33
\$16.00	\$32.00	\$80.00	16,611.30	2,585.98	1,092.90	819.67	493.83	330.03
\$15.00	\$30.00	\$75.00	228.43	202.72	178.60	151.52	199.97	133.32
\$14.00	\$28.00	\$70.00	24,875.62	842.67	1,246.88	468.19	374.52	249.75
\$13.00	\$26.00	\$65.00			2,500.00	468.78	374.98	250.00
\$12.00	\$24.00	\$60.00	29,850.75	857.12	555.56	113.64	100.00	166.67
\$11.00	\$22.00	\$55.00		937.47	1,250.00	375.02	299.99	250.00
\$10.00	\$20.00	\$50.00	243.50	176.88	83.06	187.50	150.00	100.00
\$9.00	\$18.00	\$45.00		200.00	114.94	103.81	66.48	55.40
\$8.00	\$16.00	\$40.00	18,587.36	164.65	114.94	66.67	66.67	55.56
\$7.00	\$14.00	\$35.00		166.67	208.33	117.19	93.75	78.13
\$6.00	\$12.00	\$30.00	89,285.71	186.33	83.33	86.71	69.36	57.80
\$5.00	\$10.00	\$25.00	115.34	186.45	83.33	66.37	43.17	35.97
\$4.00	\$8.00	\$20.00	71.39	62.42	38.46	26.01	20.81	17.32
\$3.00	\$6.00	\$15.00		125.00	100.00	75.00	60.00	50.00
\$2.00	\$4.00	\$10.00	71.43	27.78	22.86	17.23	13.78	11.48
\$1.00	\$2.00	\$5.00	50.00	31.55	21.04	15.78	12.62	10.52

The overall odds of winning a prize in this game are approximately one in 2.20. (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-8-9-24, July 10, 2024.)

**111-23-2.** "Bacon Me Crazy" eInstant ticket lottery game. (a) The Kansas lottery may conduct an eInstant lottery game entitled "Bacon Me Crazy." The rules for this game are contained in K.A.R. 111-22-1 *et seq.* and 111-23-2.

(b) The "play symbols" for this game are as follows:

# Play Symbols

Symbol of a Coin Symbol of a Coin with a 2X Multiplier Symbol of a Coin with a 3X Multiplier Symbol of a Coin with a 5X Multiplier Symbol of a Pink Piggy Bank Symbol of a Gold Piggy Bonus Bank

Prize and bonus prize symbols shall be randomly assigned at the time of purchase and may appear in any combination that equals any prize described in paragraph (j).

(c) For this game, there shall be three play spots in each of the ticket play areas purchased by the player. There shall be five ticket play areas. Each play spot shall be concealed by a stylized bank vault door until the player purchases one or more tickets and plays the eInstant game according to paragraph (f).

- (d) Each pool shall consist of 1,000,000 tickets.
- (e) The price of tickets for this game shall be \$1.00, \$2.00, \$3.00, \$5.00, and \$6.00.
- (f) "Bacon Me Crazy" is a multi-ticket symbol match game with a bonus play and multiplier features. The player may select between one and five tickets to play at the time of purchase. Each ticket shall be the same denomination. The player may purchase the selected number of tickets by pressing the "Play" icon. Each purchased ticket is presented in the form of a single line with three play spots. The player may reveal the play and prize symbols by manually clicking on each play spot, or by clicking on the "Reveal All" icon. A play spot may be blank once revealed. If the player reveals two "Coin" symbols and a "Pink Piggy Bank" symbol on any ticket, the player wins the prize amount shown on the "Pink Piggy Bank" symbol. If one of the revealed "Coin" symbols displays a multiplier, the prize amount for that ticket is multiplied by the multiplier amount. If the player reveals two "Coin" symbols and a "Gold Piggy Bonus Bank" symbol, the player may play a bonus game. If one of the "Coin" symbols displays a multiplier, it will be carried over into the bonus game. In the bonus game, the player will have three coins and six piggy banks separated by a pachinkostyle area. The player will select a coin and it will traverse the bonus area to land in a piggy bank. Each piggy bank will reveal a prize or the word "Collect." Once the player's coin reveals the word "Collect," the player will win (continued)

100,000.00

100,000.00

100,000.00

40,000.00

13,333.33

13,333.33

13,333.33

40,000.00

40,000.00

40,000.00

40,000.00

40,000.00

2,000.00

2,000.00

10,000.00

2,500.00

10

10

10

25

75

75

75

25

25

25

25

25

500

500

100

400

175

150

125

100

90

80

75

70

65

60

55

50

45

40

35

30

the total cumulative amount revealed in the piggy banks in the bonus game multiplied by the multiplier, if any was carried over. Each bonus game will reveal at least one prize before revealing the word "Collect."

- (g) The total number of prizes and bonus prizes in any winning game may be variable but shall equal any prize described in paragraph (j).
- (h) Approximately 25,000,000 tickets shall be ordered initially for this eInstant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 1,000,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) Each prize shall be calculated by multiplying the prize multiplier by the ticket cost and by the number of tickets purchased. The expected number of prizes in this game shall be as follows:

200

e sĥall be as follo	ws:	-	25	750	1,333.33
Prize Multiplier	Tickets per Pool	Odds (1 in:)	20	1,525	655.74
4000	1	1,000,000.00	15	15,000	66.67
	1	, ,	10	5,200	192.31
3000	1	1,000,000.00	9	1,000	1,000.00
2000	1	1,000,000.00	8	1,000	1,000.00
1000	1	1,000,000.00	6	1,000	1,000.00
500	5	200,000.00	5	5,000	200.00
450	2	500,000.00	4	5,000	200.00
400	5	200,000.00			
350	2	500,000.00	3	25,000	40.00
300	5	200,000.00	2	61,000	16.39
275	2	500,000.00	1	150,000	6.67
250	5	200,000.00	0.5	55,000	18.18
230	3	∠UU,UUU.UU			

(j) The odds of winning in any game shall be as follows:

Ticl	ket	Cost

200,000.00

\$1.00	\$2.00	\$3.00	\$5.00	\$6.00	Number of Prizes in	
	Prize Amount (n	nultiplied by number	r of tickets)		Pool:	Odds to Win (1 in:)
\$4,000.00	\$8,000.00	\$12,000.00	\$20,000.00	\$24,000.00	1	1,000,000.00
\$3,000.00	\$6,000.00	\$9,000.00	\$15,000.00	\$18,000.00	1	1,000,000.00
\$2,000.00	\$4,000.00	\$6,000.00	\$10,000.00	\$12,000.00	1	1,000,000.00
\$1,000.00	\$2,000.00	\$3,000.00	\$5,000.00	\$6,000.00	1	1,000,000.00
\$500.00	\$1,000.00	\$1,500.00	\$2,500.00	\$3,000.00	5	200,000.00
\$450.00	\$900.00	\$1,350.00	\$2,250.00	\$2,700.00		500,000.00
\$400.00	\$800.00	\$1,200.00	\$2,000.00	\$2,400.00	5	200,000.00
\$350.00	\$700.00	\$1,050.00	\$1,750.00	\$2,100.00	2	500,000.00
\$300.00	\$600.00	\$900.00	\$1,500.00	\$1,800.00	5	200,000.00
\$275.00	\$550.00	\$825.00	\$1,375.00	\$1,650.00		500,000.00
\$250.00	\$500.00	\$750.00	\$1,250.00	\$1,500.00		200,000.00
\$200.00	\$400.00	\$600.00	\$1,000.00	\$1,200.00	5	200,000.00
\$175.00	\$350.00	\$525.00	\$875.00	\$1,050.00	10	100,000.00
\$150.00	\$300.00	\$450.00	\$750.00	\$900.00	10	100,000.00
\$125.00	\$250.00	\$375.00	\$625.00	\$750.00	10	100,000.00
\$100.00	\$200.00	\$300.00	\$500.00	\$600.00	25	40,000.00
\$90.00	\$180.00	\$270.00	\$450.00	\$540.00	75	13,333.33
\$80.00	\$160.00	\$240.00	\$400.00	\$480.00	75	13,333.33
\$75.00	\$150.00	\$225.00	\$375.00	\$450.00	<i>7</i> 5	13,333.33
\$70.00	\$140.00	\$210.00	\$350.00	\$420.00	25	40,000.00
\$65.00	\$130.00	\$195.00	\$325.00	\$390.00	25	40,000.00
\$60.00	\$120.00	\$180.00	\$300.00	\$360.00	25	40,000.00
\$55.00	\$110.00	\$165.00	\$275.00	\$330.00		40,000.00
\$50.00	\$100.00	\$150.00	\$250.00	\$300.00	25	40,000.00
\$45.00	\$90.00	\$135.00	\$225.00	\$270.00	500	2,000.00
\$40.00	\$80.00	\$120.00	\$200.00	\$240.00	500	2,000.00
\$35.00	\$70.00	\$105.00	\$175.00	\$210.00	100	10,000.00
\$30.00	\$60.00	\$90.00	\$150.00	\$180.00	400	2,500.00
\$25.00	\$50.00	\$75.00	\$125.00	\$150.00	750	1,333.33
\$20.00	\$40.00	\$60.00	\$100.00	\$120.00	1,525	655.74

		Ticket Cost				
\$1.00	\$2.00	\$3.00	\$5.00	\$6.00	Number of Prizes	in
	Prize Amount (r	nultiplied by numbe	er of tickets)		Pool:	Odds to Win (1 in:)
\$15.00	\$30.00	\$45.00	\$75.00	\$90.00	15,000	66.67
\$10.00	\$20.00	\$30.00	\$50.00	\$60.00	5,200	192.31
\$9.00	\$18.00	\$27.00	\$45.00	\$54.00	1,000	1,000.00
\$8.00	\$16.00	\$24.00	\$40.00	\$48.00	1,000	1,000.00
\$6.00	\$12.00	\$18.00	\$30.00	\$36.00	1,000	1,000.00
\$5.00	\$10.00	\$15.00	\$25.00	\$30.00	5,000	200.00
\$4.00	\$8.00	\$12.00	\$20.00	\$24.00	5,000	200.00
\$3.00	\$6.00	\$9.00	\$15.00	\$18.00	25,000	40.00
\$2.00	\$4.00	\$6.00	\$10.00	\$12.00	61,000	16.39
\$1.00	\$2.00	\$3.00	\$5.00	\$6.00	150,000	6.67
\$0.50	\$1.00	\$1.50	\$2.50	\$3.00	55,000	18.18

The overall odds of winning a prize in this game are approximately one in 3.04. (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-8-9-24, July 10, 2024.)

# 111-23-3. "Gold Rush" eInstant ticket lottery game.

- (a) The Kansas lottery may conduct an eInstant lottery game entitled "Gold Rush." The rules for this game are contained in K.A.R. 111-22-1 *et seq.* and 111-23-3.
  - (b) The "play symbols" for this game are as follows:

#### **Play Symbols**

Symbol of a Lantern
Symbol of Coins
Symbol of a Mine Entrance
Symbol of a Cluster of Crystal Gems
Symbol of a Gold Coin Crate
Symbol of Emerald Crystals
Symbol of Amethyst Crystals
Symbol of a Ruby
Symbol of a Diamond
Symbol of Gold Nuggets
Symbol of a Minecart Full of Gold
Symbol of Dynamite
Symbol of a Fuse
Symbol of a Bag of Gold

Prize and bonus prize symbols shall be randomly assigned at the time of purchase and may appear in any combination that equals any prize described in paragraph (j).

- (c) For this game, 18 tiles shall appear in the game area. Nine "Dynamite" symbols shall appear on the tiles in an unbroken line at the time of purchase, where each "Dynamite" symbol shall be placed on a tile touching the vertical or horizontal edge of the previous "Dynamite" symbol. Tiles with "Dynamite" symbols shall be linked with "Fuse" symbols. The pattern shall be randomly selected from a series of predefined paths.
  - (d) Each pool shall consist of 1,000,000 tickets.
- (e) The price of tickets for this game shall be \$1.00, \$2.00, \$5.00, \$10.00, \$20.00, and \$30.00.
- (f) "Gold Rush" is a symbol match game with a bonus play feature. The player may purchase a ticket by pressing the "Play" icon. The player may reveal the play symbols by manually clicking on each "Dynamite" symbol, or by clicking on the "Reveal All" icon. If the play-

er reveals three matching symbols, the player wins the prize shown in the prize legend. For each "Bag of Gold" symbol revealed, the player may play a bonus game. In the bonus game, the player will have a "Pickaxe" icon and a "Rock" icon. The player shall break the "Rock" icon by clicking on the "Pickaxe" icon or the "Reveal All" icon. The player will win the cumulative total of all prizes revealed in the bonus games for each ticket purchased. Each bonus game will reveal at least one prize.

- (g) The total number of prizes and bonus prizes in any winning game may be variable but shall equal any prize described in paragraph (j).
- (h) Approximately 6,000,000 tickets shall be ordered initially for this eInstant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 1,000,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) Each prize shall be calculated by multiplying the prize multiplier by the ticket cost. The expected number of prizes in this game shall be as follows:

Prize Multiplier	Tickets per Pool	Odds (1 in:)
7500	1	1,000,000.00
5000	3	333,333.33
1500	3	333,333.33
1000	6	166,666.67
800	14	71,428.57
750	5	200,000.00
600	10	100,000.00
500	5	200,000.00
250	5	200,000.00
100	25	40,000.00
50	165	6,060.61
35	300	3,333.33
20	300	3,333.33
15	2,900	344.83
10	6,750	148.15
9	750	1,333.33
7	9,000	111.11
5	18,799	53.19
4	18,000	55.56
3	41,500	24.10
2	107,500	9.30
1.5	28,000	35.71
1	40,000	25.00
0.5	60,000	16.67
· · · · · · · · · · · · · · · · · · ·		1 111 6 11

(j) The odds of winning in any game shall be as follows: (continued)

		Ticket	Cost				
\$1.00	\$2.00	\$5.00 <b>Prize A</b> 1	\$10.00	\$20.00	\$30.00	Number of Prizes in Pool:	Odds to Win (1 in:)
¢7 500 00	¢15 000 00			¢150,000,00	¢225 000 00		
\$7,500.00	\$15,000.00	\$37,500.00	\$75,000.00	\$150,000.00	\$225,000.00		1,000,000.00
\$5,000.00	\$10,000.00	\$25,000.00	\$50,000.00	\$100,000.00	\$150,000.00		333,333.33
\$1,500.00	\$3,000.00	\$7,500.00	\$15,000.00	\$30,000.00	\$45,000.00		333,333.33
\$1,000.00	\$2,000.00	\$5,000.00	\$10,000.00	\$20,000.00	\$30,000.00		166,666.67
\$800.00	\$1,600.00	\$4,000.00	\$8,000.00	\$16,000.00	\$24,000.00		71,428.57
\$750.00	\$1,500.00	\$3,750.00	\$7,500.00	\$15,000.00	\$22,500.00	5	200,000.00
\$600.00	\$1,200.00	\$3,000.00	\$6,000.00	\$12,000.00	\$18,000.00	10	100,000.00
\$500.00	\$1,000.00	\$2,500.00	\$5,000.00	\$10,000.00	\$15,000.00	5	200,000.00
\$250.00	\$500.00	\$1,250.00	\$2,500.00	\$5,000.00	\$7,500.00	5	200,000.00
\$100.00	\$200.00	\$500.00	\$1,000.00	\$2,000.00	\$3,000.00	25	40,000.00
\$50.00	\$100.00	\$250.00	\$500.00	\$1,000.00	\$1,500.00	165	6,060.61
\$35.00	\$70.00	\$175.00	\$350.00	\$700.00	\$1,050.00	300	3,333.33
\$20.00	\$40.00	\$100.00	\$200.00	\$400.00	\$600.00	300	3,333.33
\$15.00	\$30.00	\$75.00	\$150.00	\$300.00	\$450.00	2,900	344.83
\$10.00	\$20.00	\$50.00	\$100.00	\$200.00	\$300.00	6,750	148.15
\$9.00	\$18.00	\$45.00	\$90.00	\$180.00	\$270.00	750	1,333.33
\$7.00	\$14.00	\$35.00	\$70.00	\$140.00	\$210.00	9,000	111.11
\$5.00	\$10.00	\$25.00	\$50.00	\$100.00	\$150.00	18,799	53.19
\$4.00	\$8.00	\$20.00	\$40.00	\$80.00	\$120.00	18,000	55.56
\$3.00	\$6.00	\$15.00	\$30.00	\$60.00	\$90.00	41,500	24.10
\$2.00	\$4.00	\$10.00	\$20.00	\$40.00	\$60.00	107,500	9.30
\$1.50	\$3.00	\$7.50	\$15.00	\$30.00	\$45.00	28,000	35.71
\$1.00	\$2.00	\$5.00	\$10.00	\$20.00	\$30.00	•	25.00
\$0.50	\$1.00	\$2.50	\$5.00	\$10.00	\$15.00	,	16.67

The overall odds of winning a prize in this game are approximately one in 2.99. (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-8-9-24, July 10, 2024.)

**111-23-4.** "Lucky Forest" eInstant ticket lottery game. (a) The Kansas lottery may conduct an eInstant lottery game entitled "Lucky Forest." The rules for this game are contained in K.A.R. 111-22-1 *et seq.* and 111-23-4

(b) The "play symbols" for this game are as follows:

#### Play Symbols

Symbol of an Acorn Symbol of an Apple Symbol of a Blackberry Symbol of a Butterfly Symbol of Cherries Symbol of a Coin Symbol of a Horseshoe Symbol of a Ladybug Symbol of a Mushroom Symbol of a Strawberry Symbol of a White Rabbit Symbol of a Clover

Prize and bonus prize symbols shall be randomly assigned at the time of purchase and may appear in any combination that equals any prize described in paragraph (j).

- (c) For this game, five "Winning Symbols" and 20 "Your Symbols" shall appear in the game area.
  - (d) Each pool shall consist of 1,000,000 tickets.
- (e) The price of tickets for this game shall be \$1.00, \$2.00, \$5.00, \$10.00, \$20.00, and \$30.00.

- (f) "Lucky Forest" is a key symbol match game with multiplier and bonus play features. The player may purchase a ticket by pressing the "Play" icon. The player may reveal the play and prize symbols by manually clicking on each symbol, or by clicking on the "Reveal All" icon. If the player matches any "Winning Symbol" to any "Your Symbol," the player wins the prize shown below that symbol. If the player reveals three "Clover" symbols, the player will win a bonus prize. If the player reveals three "White Rabbit" symbols, the total prize amount, including any bonus prize, will be multiplied by a "White Rabbit Multiplier" of either 2X, 5X, or 10X.
- (g) The multiplier and the total number of prizes and bonus prizes in any winning game may be variable but shall equal any prize described in paragraph (j).
- (h) Approximately 6,000,000 tickets shall be ordered initially for this eInstant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 1,000,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) Each prize shall be calculated by multiplying the prize multiplier by the ticket cost. The expected number of prizes in this game shall be as follows:

Prize Multiplier	Tickets per Pool	Odds (1 in:)
10000	1	1,000,000.00
2500	2	500,000.00
400	3	333,333.33
200	3	333,333.33
125	4	250,000.00
102	5	200,000.00
60	20	50,000.00
57.5	750	1,333.33
55	1,700	588.24
50	20	50,000.00

Prize Multiplier	Tickets per Pool	Odds (1 in:)	4	4,500	222.22
30	500	2,000.00	2.5	70,000	14.29
25	1,800	555.56	1.5	70,000	14.29
11.5	10,500	95.24	1	100,000	10.00
10	3,161	316.36	0.5	56,000	17.86
5	21,001	47.62	(i) The odds of winning	in any game shall b	e as follows:

(j) The odds of winning in any game shall be as follows:

Ticl	ket	Cost
I 1C	ĸet	Cost

\$1.00	\$2.00	\$5.00	\$10.00	\$20.00	\$30.00	Number of Prizes	Odds to Win
		Prize An	nount			in Pool:	(1 in:)
\$10,000.00	\$20,000.00	\$50,000.00	\$100,000.00	\$200,000.00	\$300,000.00	1	1,000,000.00
\$2,500.00	\$5,000.00	\$12,500.00	\$25,000.00	\$50,000.00	\$75,000.00	2	500,000.00
\$400.00	\$800.00	\$2,000.00	\$4,000.00	\$8,000.00	\$12,000.00	3	333,333.33
\$200.00	\$400.00	\$1,000.00	\$2,000.00	\$4,000.00	\$6,000.00	3	333,333.33
\$125.00	\$250.00	\$625.00	\$1,250.00	\$2,500.00	\$3,750.00	4	250,000.00
\$102.00	\$204.00	\$510.00	\$1,020.00	\$2,040.00	\$3,060.00	5	200,000.00
\$60.00	\$120.00	\$300.00	\$600.00	\$1,200.00	\$1,800.00	20	50,000.00
\$57.50	\$115.00	\$287.50	\$575.00	\$1,150.00	\$1,725.00	750	1,333.33
\$55.00	\$110.00	\$275.00	\$550.00	\$1,100.00	\$1,650.00	1,700	588.24
\$50.00	\$100.00	\$250.00	\$500.00	\$1,000.00	\$1,500.00	20	50,000.00
\$30.00	\$60.00	\$150.00	\$300.00	\$600.00	\$900.00	500	2,000.00
\$25.00	\$50.00	\$125.00	\$250.00	\$500.00	\$750.00	1,800	555.56
\$11.50	\$23.00	\$57.50	\$115.00	\$230.00	\$345.00	10,500	95.24
\$10.00	\$20.00	\$50.00	\$100.00	\$200.00	\$300.00	3,161	316.36
\$5.00	\$10.00	\$25.00	\$50.00	\$100.00	\$150.00	21,001	47.62
\$4.00	\$8.00	\$20.00	\$40.00	\$80.00	\$120.00	4,500	222.22
\$2.50	\$5.00	\$12.50	\$25.00	\$50.00	\$75.00	70,000	14.29
\$1.50	\$3.00	\$7.50	\$15.00	\$30.00	\$45.00	70,000	14.29
\$1.00	\$2.00	\$5.00	\$10.00	\$20.00	\$30.00	100,000	10.00
\$0.50	\$1.00	\$2.50	\$5.00	\$10.00	\$15.00	56,000	17.86

The overall odds of winning a prize in this game are approximately one in 2.94. (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-8-9-24, July 10, 2024.)

> Stephen W. Durrell **Executive Director** Kansas Lottery

Doc. No. 052459

# INDEX TO ADMINISTRATIVE REGULATIONS

This index lists in numerical order the new, amended, and revoked administrative regulations with a future effective date and the *Kansas Register* issue in which the regulation can be found. A complete listing and the complete text of all currently effective regulations required to be published in the *Kansas Administrative Regulations* can be found at https://www.sos.ks.gov/publications/pubs\_kar.aspx.

# AGENCY 69: BOARD OF COSMETOLOGY

Reg. No.	Action	Register
69-15-6	Amended	V. 43, Issue 34
69-15-7	Amended	V. 43, Issue 34
69-15-9	Amended	V. 43, Issue 34

#### **AGENCY 111: KANSAS LOTTERY**

A complete index listing all regulations filed by the Kansas Lottery from 1988 through 2000 can be found in the Vol. 19, No. 52, December 28, 2000 Kansas Register. A list of regulations filed from 2001 through 2003 can be found in the Vol. 22, No. 52, December 25, 2003 Kansas Register. A list of regulations filed from 2004 through 2005 can be found in the Vol. 24, No. 52, December 29, 2005 Kansas Register. A list of regulations filed from 2006 through 2007 can be found in the Vol. 26, No. 52, December 27, 2007 Kansas Register. A list of regulations filed from 2008 through November 2009 can be found in the Vol. 28, No. 53, December 31, 2009 Kansas Register. A list of regulations filed from December 1, 2009, through December 21, 2011, can be found in the Vol. 30, No. 52, December 29, 2011 Kansas Register. A list of regulations filed from December 22, 2011, through November 6, 2013, can be found in the Vol. 32, No. 52, December 26, 2013 Kansas Register. A list of regulations filed from November 7, 2013, through December 31, 2015, can be found in the Vol. 34, No. 53, December 31, 2015 Kansas Register. A list of regulations filed from 2016 through 2017, can be found in the Vol. 36, No. 52, December 28, 2017 Kansas Register. A list of regulations filed from 2018 through 2019, can be found in the Vol. 38, No. 52, December 26, 2019 Kansas Register. A list of regulations filed from 2020 through 2021, can be found in the Vol. 40, No. 52, December 30, 2021 Kansas Register. A list of regulations filed from 2022 through 2023 can be found in the Vol. 42, No. 52, December 28, 2023 Kansas Register.

Reg. No.	Action	Register
111-4-3547	Amended	V. 43. Issue 31

111-4-3771	New	V. 43, Issue 5
111-4-3772	New	V. 43, Issue 11
111-4-3773	New	V. 43, Issue 12
111-4-3774	New	V. 43, Issue 14
111-4-3775	New	V. 43, Issue 29
111-4-3776	New	V. 43, Issue 29
111-4-3777	New	V. 43, Issue 29
111-4-3778	New	V. 43, Issue 29
111-4-3779	New	V. 43, Issue 29
111-4-3780	New	V. 43, Issue 29
111-4-3781	New	V. 43, Issue 29
111-4-3782	New	V. 43, Issue 29
111-4-3783	New	V. 43, Issue 29
111-4-3784	New	V. 43, Issue 30
111-4-3785	New	V. 43, Issue 30
111-4-3786	New	V. 43, Issue 30
111-4-3787	New	V. 43, Issue 30
111-4-3788	New	V. 43, Issue 30
111-4-3789	New	V. 43, Issue 30
111-4-3790	New	V. 43, Issue 31
111-4-3791	New	V. 43, Issue 31
111-4-3792	New	V. 43, Issue 31
111-4-3793	New	V. 43, Issue 31
111-9-233		V. 43, Issue 5
111-9-234	New	V. 43, Issue 12
111-9-234	New	
	Amended Amended	V. 43, Issue 31
111-15-3		V. 43, Issue 31
111-18-5 111-19-169	Amended	V. 43, Issue 12
	New	V. 43, Issue 5
111-19-170 111-19-171	New	V. 43, Issue 12
	New	V. 43, Issue 12
111-19-172	New	V. 43, Issue 12
111-19-173	New	V. 43, Issue 12
111-19-174	New	V. 43, Issue 14
111-19-175	New	V. 43, Issue 14
111-19-176	New	V. 43, Issue 14
111-19-177	New	V. 43, Issue 29
111-19-178	New	V. 43, Issue 29
111-19-179	New	V. 43, Issue 29
111-19-180	New	V. 43, Issue 29
111-19-181	New	V. 43, Issue 30
111-19-182	New	V. 43, Issue 30
111-19-183	New	V. 43, Issue 31
111-20-1	New	V. 43, Issue 5
111-20-2	New	V. 43, Issue 5
111-20-3 111-20-4	New	V. 43, Issue 5
	New	V. 43, Issue 5
111-20-5	New	V. 43, Issue 5
111-20-6	New	V. 43, Issue 5
111-20-7	New	V. 43, Issue 5
111-20-8	New	V. 43, Issue 5
111-20-9	New	V. 43, Issue 5
111-20-10	New	V. 43, Issue 5
111-20-11	New	V. 43, Issue 5
111-20-12	New	V. 43, Issue 5
111-20-13	New	V. 43, Issue 5
111-20-14	New	V. 43, Issue 5
111-20-15	New	V. 43, Issue 5
111-20-16	New	V. 43, Issue 5
111-20-17	New	V. 43, Issue 5
111-20-18	New	V. 43, Issue 5
111-20-19	New	V. 43, Issue 5
111-20-20	New	V. 43, Issue 5
111-20-21	New	V. 43, Issue 5

111-20-22	New	V. 43, Issue 5
111-20-23	New	V. 43, Issue 5
111-21-1	New	V. 43, Issue 11
111-21-2	New	V. 43, Issue 11
111-21-3	New	V. 43, Issue 11
111-21-4	New	V. 43, Issue 11
111-21-5	New	V. 43, Issue 11
111-21-6	New	V. 43, Issue 11
111-21-7	New	V. 43, Issue 11
111-21-8	New	V. 43, Issue 11
111-21-9	New	V. 43, Issue 11
111-21-10	New	V. 43, Issue 11
111-501-113	Amended	V. 43, Issue 11
111-501-155	Amended	V. 43, Issue 11
111-501-161	New	V. 43, Issue 30

# AGENCY 112 RACING AND GAMING COMMISSION

GAMING COMMISSION					
Reg. No.	Action	Register			
112-201-1	New (T)	V. 42, Issue 44			
112-201-2	New (T)	V. 42, Issue 44			
112-201-3	New (T)	V. 42, Issue 44			
112-201-4	New (T)	V. 42, Issue 44			
112-201-5	New (T)	V. 42, Issue 44			
112-201-6	New (T)	V. 42, Issue 44			
112-201-7	New (T)	V. 42, Issue 44			
112-201-8	New (T)	V. 42, Issue 44			
112-201-9	New (T)	V. 42, Issue 44			
112-201-10	New (T)	V. 42, Issue 44			
112-201-11	New (T)	V. 42, Issue 44			
112-201-12	New (T)	V. 42, Issue 44			
112-201-13	New (T)	V. 42, Issue 44			
112-201-14	New (T)	V. 42, Issue 44			
112-201-15	New (T)	V. 42, Issue 44			
112-201-16	New (T)	V. 42, Issue 44			
112-201-17	New (T)	V. 42, Issue 44			
112-201-18	New (T)	V. 42, Issue 44			
112-201-19	New (T)	V. 42, Issue 44			
112-201-20	New (T)	V. 42, Issue 44			
112-201-21	New (T)	V. 42, Issue 44			
112-201-22	New (T)	V. 42, Issue 44			
112-201-23	New (T)	V. 42, Issue 44			
112-202-1	New (T)	V. 42, Issue 44			
112-202-2	New (T)	V. 42, Issue 44			
112-203-1	New (T)	V. 42, Issue 44			
112-203-2	New (T)	V. 42, Issue 44			
112-203-3	New (T)	V. 42, Issue 44			
112-203-4	New (T)	V. 42, Issue 44			
112-203-5	New (T)	V. 42, Issue 44			
112-203-6	New (T)	V. 42, Issue 44			
112-203-7	New (T)	V. 42, Issue 44			
112-203-8	New (T)	V. 42, Issue 44			
112-204-1	New (T)	V. 42, Issue 44			
112-204-2	New (T)	V. 42, Issue 44			
112-204-3	New (T)	V. 42, Issue 44			
112-204-4	New (T)	V. 42, Issue 44			
112-204-5	New (T)	V. 42, Issue 44			
112-204-6	New (T)	V. 42, Issue 44			
112-204-7	New (T)	V. 42, Issue 44			

Kansas Register Secretary of State 1st Floor, Memorial Hall 120 SW 10th Ave. Topeka, KS 66612-1594